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��	�� �� � ���	���	�	 ���� ���
�� -���
�	��& �	 	��
��: �	� ��� ���	 ��� �
����� �- ��
�& -��
������� ��	�
����� 1	 ���': $��	���� �� ;�	�� �������	��� � ���3�	% �- ��� �������� ���� ����	� � ��
	�
�������� <7�%� ���= 3��� ��� -����3�	% ����������	>

������� ��� �����	 �- ��� 3���� �
�-���: 3���� ��������� ���� �- ����: ���� ��� �3� �����	�>
�	� �
� �� ��� 3��%�� �- ��� ���-�: ��� ����� �� ��� ����� �- ��� �
���? ��
�: 3���� ��� ���&�	%
�����	�: �	� ���� �- 3���� �� �
� �� ��� ���	����� �
���	�: ��� ����� �� ��� ��	��� �	� �������
�����	�

9����
%� ����� �	�����& �	 ����
�����	: �	� 	�� �������	��� �& � ������������ �	��&���: ���� ����������	
��& �� ���	 �� � ����
���� �� !�&	����@ ������������	 �- �������&: �����
�� �	� ����� ��������� �	�� ���	
�	� 2
��
���	% ������

������ ���	 ������ ��	
 ��	�
��	 �
 ������� �	���		���

���� ��� �	���
	���� �	� �3�	�& &���� ��	�� �����	� !�&	����@ �,������	��: �
�� ���%���� ���
���	 ����� ����������� �������� �- �
��
��	�� ���� �������� %��� 
	������	��	% �- ��� �����	% ��3�
�	 �����
� 2�3 ��%����� +,������	��� ��
���� ���� %���	 %���� �	��%�� �	 ��� 
	������	��	% �- ���
���
��
�� �- �
��
��	� 2�3�: ������
����& �	 ��� ���	�� �����	 �- ��� ������	� ������ �����	����� -�� ����
�- ��� �	��%& ����
����	� ����
����	� ����	��
�� ��	 	�3 %��� ��	%������	� ����
����	�� �- �������&
�	� �������& %�����	� �����	�	�� 
��	% $�����#������ ����������& �� �
������ 3��� �	���������: ��
�������& �������
���	� �	 � ���	�: ����
%� 0��������1��%� �� 0��������������	% ;���������&� 9 ��%	� ��	�
��	����
���	 �� ���� ���%����: ���� ��� ���� �����& &����: �� �
� �� ��� ���������	� �- ����	����	�
	
������� ���
�����	 ������� -�� �
��
��	� 2�3�: �
�� �� ��� ������ �	� ���%�����& ���
�����	� �����
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����	��
�� ���� ���� ��������� ���� ���� ��� 	���� ���	 ����
����� ������
��&> �
�������	�: 
	����
����
����
����	�� �- �������&: �������& %�����	��: �����
��: ������� ������� ���� 9����
%� �	�& ���� ��� ���� -�3
&���� ����� ����	��
�� <�	� ���������& $+�= ���� ���	 
��� -�� ���� �	%�	����	%�����	��� ��	 %
�����	�:
��� �	�3���%� ���� ��� ���	 %��	�� -��� ����� ����������	 �� ������: �
����	%������ 2�3�: ��� ���	
�	���
����� #�������� �����	�� -��� ������ ���
�����	� ���� ���	 
��� �,��	�����& -�� ����� ���������	
�	� ���������	�: �	� ���� �������� 	�3 �	��%�� �	 ��� ��&���� �- �
��
��	� 2�3��

9� ��� ���������	 �	� ��	���� �- �
��
��	� 2�3� ������ �	������	%�& �������	�: ��� 	��� -�� ���
����
������ �- �
��
��	� 2�3� �� �����	��& ��� ����	% ���� -�� ��� ���������	� �- ����%	 �	� �	��&��� �����
-�� ��� ����������	� ��	���	�� ������ $��%�����& �	� ������ ���
�����	� ��� �3� �- ��� ����� ���� ��	 ��

��� �& ��� �������� �	� �	%�	����	% ����
	����� �� ���� �	����� �	�� ���� �������	� ��������
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 ���
�����	 ����	��
��

9	��&����� �� 	
������� ���
���	 �- �
��
��	� 2�3 �������� ��	 �� ������������ 
��	% �����
� ������ �-
�����,������	: &�����	% ���� �� ���� �������� ����������	� �- ��� ����� �- ��� 2�3� ��� �������� ��������
�� �� 
�� �������������� ����������	�� ����&@� ���%���: 3���� %���� ��� ���	 -������	 -����� -�� �&��	������
����� �� � -
	����	 �- !�&	���� 	
���� �	� �������� ��
%�	���: �� �	 �,����� �- ���� ��������: 3����
�� ���������& 
��-
� -�� %�����: ��	��������
�� �	��&���: �
� &����� 	� �	-�������	 �	 ����� �
�	������ �	�
������ ������& �	 ��� �����������& �- �,������	��� ���� �	 ��	 %
�����	� ������� �� ��� �	� 
	��� ��
�&�

9 ���� ������������� ������ �	������ ��� 
�� �- !�&	����@ �����%�	%> ��� ��	%����� �����%� �- �
�
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3���� � �� � ���� �	������ �
�� ��	%�� ���	 ��� ��� ���� ������ �- ��� �
��
��	� 2�3� ��� �����%�	%
��������	 �� 	�� ����� ������� �	� �� ��������� �	& �
�	���& �	�� ��� ���	 ����: ���: �	� � 2
��
���	%
����: � � ���� 1- ��� �����%�	% ��������	 <���= �� ������� �� ��� ��
����	� �- �����	: �	� �����	� ���
3�����	�3	 !�&	����������%�� ������������� ��
����	� <!9��=: ���� �������� ��� ����
���	 �- ��� ���	
�
�	������� ��� �B��� �- �
��
��	� 2
��
����	� ������� �	 � !�&	���� ������ ���� ���� �
�� �� ������� ��
����� ��� �&����� 9 ���& 3��� ��	%� �- ������ -�� ��� !�&	���� �������� �� ���������: ��	%�	% -��� ������:
��%������ ������: �� ��� ������: �� -
�� �� ��%������ !�&	���� ������ ����
���� ��� ���
���	 �- ��� !9��
��
����	� �� 	�3 
��� �	 �	%�	����	% ����������	� �� ������� ��� 2�3 �	 -����& ������, ��	 %
�����	��

���� �������� �
B��� -��� �	� ���	����� ���������	%> ��� -��� ���� ��� ����� �
�� �������	� � ���&
3��� ��	%� �- ������� 4���� ��� ����� ������ ��	� �� ����	� �	�& �	 ��������&: �	� ��& �� ����3���

	�������: ��� ���%� �	�� ��� �B����� ���& ����	%�& �& ��� ��
	���& ��	�����	� <���: -�� �	���	��: ���
��B���	�� ���3��	 ��� ���	3��� ������� �����	� �	 ��,�	% ��&��� �	� 3���� �	� ��� ���	%���� ������3���
�������� ���� ��� -�
	� �	 ��� 	����3��� ��%��	 �- � �
��
��	� ��
	���& ��&��=� ��
�: �� ���� 	�� ����
�������� �� ����� ��� �B��� �- ��� ���%� ������ �- �
��
��	�� �	 ��� ���� 3�& �	 2�3� ���� ��� ���&
��B���	��

#����� 	
������� ���
�����	� <#��= �- �
��
��	�� ��� ��� ���� �����%��-��3��� �������� �� ��� ���
�
���	 �- �
��
��	� 2�3�� 1	 #�� ��� %����	�	% ��
����	� ��� ��������(�� �������&: �	� ������ 	
��������&�
1- ��� ���� ��  	� �	�
%� �� ������� ��� �������� ������ �- �����	: �	� ��	 �����	 �	 ���
���� ������
����	���	��: ���������	��	� ���
���	 �- ��� %����	�	% ��
����	� ���������& -��� �- ������	% ���
�����	�:
�	� �	 3���� ��� �	�& ������ ��� ����� �	����
��� �& ��� 	
������� �����,������	� #�� ����� �� ����
����� �� ����
�� �	� ���
���(� �	& �
�	���& �- �	������: �	��
��	% ���� ���� ��� ��Æ�
�� �� ����������
�� ����
�� �,������	����&: �	� �� ��
�& ��� ������� �������	����� ���3��	 2�3 ��������� <-�� �	���	��:
��������& �	� �	��%& ����
����	=: �� �����	 �	��%�� �	 ��� �������� ��	������� �	� �&	����� �- �
��
��	�
�������

#�� ���� ���	 � ���& 
��-
� ���� -�� ��� ��
�& �- ���	�����	�� �	� �
��
��	� 2�3 ��&����: �
� ���& ����
���� ���������	�� 7����: ��� 
�� �- ��%��& ���
����: ��%������� ������� �� ��������� �� ����� ���������	 �	�
����������	 ������? ����� ������� <�������� �������: -�� �,�����= ��	� �� ���� ������ 2�,������& �	 ��	���	%
������, %��������� �	� %�	���� ��
	���& ��	�����	�� ����	��&: �� ������� ��� ��� ������ �- �����	: �	�
���
���� � 	
���� �- %��� ���	�� ���������	�� �� ��� "C) ��3�� �- ��� !�&	���� 	
����: ��: �	� ���
���� �- ��� ����
�����	 ������ ���� ��� <��� ��� ����
����	 �	 ��� �����
���	 ���
�����	�� -�� $+� �	�
#�� �	 ������	 ���=� 7�� ����� �����	�: #�� ���� ���%��& ���	 ������� �� ������ %��������� <2�� �����:






����%�	��
� 2�3�= �� ��3 !�&	���� 	
�����: �	� ��� ����������	 �� �	%�	����	%��&�� �������� 3����	
��� 	�,� ������ ������� 
	�����&�

$��%�����& ���
�����	� <$+�= ��� � ����	��
� �	���������� ���3��	 ��� ������ ���
�����	 �- �
��
��	�
2�3� �	� ��� ���
���	 �- ��� !�&	����������%�� ��
����	�� 1	 $+� ��� ��	����
���	 �- ��� ���%�: �	��%&�
����&�	% ���
��
��� �� ����	�
� �	� �	��%& ���	�-�� �� ����
��� �,����&: �	� �	�& ��� �B��� �- ���
�������� ������ �- �
��
��	�� �� �������� ��	�� ��� ����� ������ ��	� �� �� ���� ����%�	��
� �	�

	�������: �	� ���� �B����� �& ��� ��
	���& ��	�����	� ���	 ��� ���%� �	��: ����� �� ���� ���� �����
������ ��	 �� ������� �	� ���
��� -�3�� ���
����	�� 3��	 ������� �� ��B���	� 2�3� ���	 ������� ������
-�� ��� !9�� ��
����	��

$+� ��� ������� �� #�� �	 ���� ���& ������� � ����������	���	��: ���� ����	��	� ���
���	 �- ���
������������� ��
����	�� ��
�: ���& ����� ���
��� -����&  	� ������� D�3����: ���& ��	 �� 
��� �� �
��
��%��� !�&	���� 	
����� ���	 #��? ������&: �	 -���: �- ��� ����� ������ ���& �	���������	%� �&	�����: ���
���� �- � ����
�����	 �� �	����	��	� �- �� <	��: ��3����: �- � ����� ��
	���& �� �����	�=� 9��	% ���
���������� �- $+� ��� �� ������� ���� -�� ��3�������� �
��
��	�� ������ �� !�&	���� 	
����� ��&�	� ���
����� �- #��: �	� �� ��
�& ���� ������, ��&���� ���	 ��	 �� ��������� �& #��: �	 ��	 %
�����	� ������
�� ����� �- �	%�	����	% �	�������

1	 ��� ����: ��� �	%�	����	% ����
	��& ��� �����& ���-����� -����& 3������������ $+� ����
�����	� �-
���������& ������ 2�3�: 3���� �	 ��� ���������%���� ����
	��& ������� ����
�����	� �	 3���� ��� �����
���	
3�� �	����
��� 	��� ��� ����� ��
	������ ���� ���	 �������	�� 9����
%� �
��	% ��� ���� ������ ���
���������	� �- 	�3: ���� ���
���� ������ -�� ��� 
	�������� ������ ��� ����3�� ��� ���
�����	 �- 2�3�
�	 ���� ������, ��	 %
�����	� ���	 ������
��& ��������: ��� ����������	 �- $+� �� ���
�� ����	���%����
����������	� ��	%�� �	 ��� ���������	� �- ���� �Æ���	� ���������%��� �� �������	� ��� ��%��	 	��� �����
��
	�������

��� ���������� �	� ���	

0
����� �- ����� 	���� �� �� %��� ��� ������ � 2���� �- ��� �
���	� ����� �- $+� �	� #��� ���� ���
	�,� *������� ��� ���
���� ����� 3��� �� �����	���> %����	�	% ��
����	�: 	
������� �������: ��
	���&
��	�����	�: �����
���	 ���
�����	�� 3��� �� ����
����: �	� ���� ���������	�� �	� ����������	� �- #��
3��� -����3� ���	: ��� ����
����	 3��� �� -��
��� �	 ��� $+� ��������> ������� �
�%��������� ������ 3���
�� �	����
���: ����������	� �	� -
�
�� ������	%�� 3��� �� �����	���� ����  	�� ������� 3��� ��	��
��
����� 	�����

��� 	���� ���
�� �� ���3�� �� � �
������: 	�� �� � ��������	���� �����3 �- ��� ����� ��� ������
�	�������� �	 ���� �	������ ����
����	� �- ��� �
����� �� ��������� �� ������� ����	� �����3�: �	 ������
���
����� �& $����
� E �F����� <�""�=: 0������� E *���	�� <�"".=: ���	 <�""5=: ���	 E ������ <�""6=:
0������� <�"""= �	� ��	����
 E G��( <
'''=�
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��� ��
����	� %����	�	% ��� ��	��������	 �- ����: ����	�
� �	� �	��%& �	 � �����
�: ��3��	��	 2
��
���: �	 ��� ����	�� �- ���& -�����>
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3���� 
� �� ��� �������&:� � ��� �����
��: 
 ��� ��	���& �- ��� 2
��: � ��� ��������&: � A ��� H 

�
��

�� ��� ����� �	��%& ��� 
	�� ���
��: �� �� ��� ����� � ���� �� ��	���	� ���
��: �	� � ��� ��������
��:
	��	� �� ��� ���� %�	������	 ��� 
	�� ���
��: � A ��
�� �� ��� �����
��� ��	�
������&: �� �� ��� ����� �
���� �� ��	���	� �����
��: � �� ��� ������� ��B
�����&: �	� ��� �� ��� �����	����� ��	���

��� A
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9	 ��
����	 �- ����� �	� � �������	���� ���� %���� ��� ��������& �� � -
	����	 �- ��� ����� ����� ���������
<�
������	�@� ��3: -�� �	���	��= ����� ��� �&����� 7�� �	������������ 2�3�� 3��� ��	���	� ����������
<
���
��= ���
�� ��
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�� A ����� <
�5=

3���� � A ��
? ��� ��
����	 -�� ��� ��������
�� �� ����
���� -��� ��� ����	�
� �	� ���� ��	��������	
��
����	�: �	 ��� ����	�� �- �
�&�	�& �B�����


�
 ��� ������� ������������� ��
����	�

�� �������� ��� ���%� -��� ��� ����� ������: $+� �� ����� �	 ��� �� 	����	 �- �  �����	% ��������	> �
 ������ <�� ��������: �� ���%�������= ��������: ��	���� �& �	 �������: �� �� 	�� ��

�<)= A

�
�

�<)�=�<)�)�=�)�� <
�6=
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3���� � �� ��� �	���� �����	 �	� � �� ��� ����� -
	����	� ���  ���� -
	����	 �������	�� ��� ��(� �	�
���
��
�� �- ��� ����� ������� 1� �� ���& �� ���3 ����: �- � �� � -
	����	 �- �� �� �	�&: ��B���	������	 �	�
���  �����	% ��������	 ����
�� <$��	��� �"5)=�

��� ���� �����	�&�
���  ���� -
	����	� ��� ��� ����� 7�
���� �
��B  ����: ���� �� 	�� �	 3���
������ ��<�= A � � �- � � ��I

' �����3����
<
�"=

��� J�
����	  ����:

�<�= A

�
.

�I
�
�,�

�
�
.��

I
�

�
� <
��'=

�	� ��� ������  ���� �	 ���� �����>

�<�= A

�
��I �- ��� � I�

' �����3����

<
���=

����� �����  ����� �	� ����� 7�
���� ���	�-���� ��<�= ��� ���3	 �	 7�%� 
��� 1� ���
�� �� 	������ ���� �	
�������� ��� J�
����	  ���� �� ��3�&� 
��� �	 ��	�
	����	 3��� � ����� 7�
���� �
��B? ��� ��
	�����	 �-
��� J�
����	 �� � 	�	�	�%��%���� ���
� �� ��� ��
�� -�� ��� ��	%�	% �������� �	 ���  %
��� 7�� 
	�-���
 ���� 3����� I ���  ����� ����� ��� ���	���������	% �	� ����
�� 3��� ��B���	������	�

�� ���
������ ��� ��B���	�� ���3��	 ���  ����� �� 	�� ����� ���& ��� ������� �� � ���� -
	����	
�����	�� -��� ��	��� 	���� 3��� � %���	 ������
�? ��� ������� �- ���  ������ ��������� ��� ���3	 �	
7�%� 
�
� ��� ������ �	� J�
����	  ����� %��� ������� ���
���? �	 ������
���: ���& ���� ������ ��� ���%��
����� 2
��
����	� �� 3��� �� ��� ����������� �	��: 
	���� ��� 7�
���� �
��B: ���� �	�& �B���� ��� ������
����3 ��� �
��B 3����	
�����

1- ���  �����	% ��������	 <
�6= �� ������� �� ��� %����	�	% ��
����	�: �	� �����	� ���  ������ ��
����	�
�- �����	: 3���� ��� ������ �	 ���%�����& ���
�����	�� 7�� �	 �	������������ 2�3 �- � ��3��	��	 2
��:

������� ��������� ������ 
 ��
����� ������� �� 
 �
��� �� �� ��� ��	����  ������ ���Æ����� �! ��� ���"��
� ��
������
� �� 
 ���������� �! #������" ���� ���$���!��	 #����� ��� %���
� & '��� (�))*+�

.
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���  ������ ������������� ��
����	�: 3�����	 �����: %����	 ��� ����
���	 �- ��� ���%�: �	��%&�����&�	%:
������ �- �����	� ��� �B��� �- ��� ����� ������ ������� ����
%� � �
�%��������� <�J�= ������ ����:

��� A 
�
� � 
�
� � <
��)=
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����	��� ����
��

1	 ���� ������ �	� ���%�����& ���
�����	� ��� %����	�	% ��
����	� <
���
�.= �� <
��
�
���= ��� ��������(��
�	� ������ 	
��������&� 7�� #��: ���� �����%��-��3��� �������� �����	�� 	�	�������� ��%	� ��	� 	
�������
������	%��� 1	 $+�: ��� ����
�����	�� ��Æ�
����� ��� ���%���& ���������: �
� ������	% ��� ����� ������:
��� �J� �������� ��� : ������� �	 ���
�� 1	 ���� *������: ���� ��	���������	 �	 	
������� ���
�� 3��� ��
�����	����

���  ����
���	 ���
�����	��

�*�*� �
��	� �
�����
���

��� ��	%� �- ������ �����	� �	 � �
��
��	� 2�3 �� � ����	% -
	����	 �- ��� !�&	���� 	
����� *�	�����
-�� �	���	�� ��� ��,�	% ��&�� ���3	 �	 7�%� ���� ��� ���%��� ������ �	 ���� 2�3 ��� ��� ���	3��� �������:
3���� ����� �� �? � ���& 3��� ��	%� �- ������� ������ �� �����	�: ��� �������� �	�� ���	% ��� G����%����
������ �� ��� ����������	 ����� ����� �	 ��� 	�	�����	���	�� 3����	
���� ��	� '�� � �� � ��': 3����
��������	�� �� � ��	%�� ����� ��	� �- ���
� .� �� .'��

1	 #��: ��� ��� ������ �- �����	: 
� �� �	� �	��
��	% ��� ����������� ������ �- ����� � �
�� �� ��������?
��	�� ��� ����
�����	�� �����	 �
�� �� ��%	� ��	��& ���%�� ���	 ��� ���%� ����� �: 3���� ��� %��� ��(�
�
�� �� �- ����� �: ��� 	
���� �- %��� ���	�� ���
���� �� ���������	�� �� ��� ����� ��� � ���	� <3����
�� �� ��� !�&	���� 	
���� ����� �	 �	 �	��%��� ����� �- ��� 2�3=� ��
�: ��� 	
���� �- %��� ���	��
	����� �� ���-��� � ����������	���	�� #�� ������ ���� ��� "C) ��3�� �- ��� !�&	���� 	
�����

��� ���������� �- ��� �������� ������ ���� �
������ � ��
	� -�� ��� ��,��
� ��������� ����3��> ��	��
��� ����� �- ��� �	��%��� ���������� �- ��� 2�3 �� ��� G����%���� ���������� �� ���� ���������	�� �� ���	�

��� 	
���� �- ���������� ���
���� �� ����	�� ��� ���
���	 �& �  ,�� ���� ��� ��� ���� ����	��	�� �	
��� 9��
��	% ���� ��� *08 ���� ���
���� �& � 	
������� ��%������ �� ���������	�� �� ��� ����� 	
����
�- ���	�� � : ��� ���� �- � ����
�����	 3��� ����	� �	 ��� ����
�� �- ��� 	
���� �- ���	�� �& ��� 	
����
�- ����������: ��	�� �� ����	��

7�� 3������
	��� 2�3�: ��� ����	��	�� �- ��� ����
�����	 ���� �	 ��� !�&	���� 	
���� �� ���	
��������� 1	 ��� 	����3��� ��%��	: ��� ����������� �����	% -�� ��� �
��
��	� ������ �����	����� -�� ���
������& ���
��
��� ���3	 �	 7�%� ��
 �� ��� �����
� ��	%�������� ��

 : 3���� 

 A <���
=

�	� �� ��� -������	

Large structures
scale L

Small structures
scale η

x

y

������ ���	 ����
��%
��	� 	� ��� &	' �� 
 
�(��" �
���  ��	
 )�	'� * +	���	 ,-./!�
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Low−speed streaks, scale λ+
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<��� -���������� �������& �	 � ��
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����� ���� �����: ������ �����,������& ���� ������

��� ��	����� #�� �- ���	� ���		�� 2�3 �� �� A ��'' �& G�� �� ��� <�"65=: -�� �	���	��: 
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���� �����,������& 
'' ��
�� �- *08 ���� �	 � *��& K�0� �� �	������
��� !�&	���� 	
���� �& � -����� �- �': 6'' ������	 ���	�� 3�
�� �� 	�������& �� ������� ��� 2�3: �	�
�����,������& .''''' *08 ��
�� <������ ����	 &����= 3�
�� ���� ���	 ���
���� �	 ��� K�0� +��	
3��� �����	� �
�������
����: ���� ��� -����� �& �	� �� �3� ������ �- ��%	��
�� ���	 ��� K�0: ����
����
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��� � ����� �B����
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1	 �	 $+� �	�& ��� ���%� ������ �- �����	 �
�� �� ��������� ��� ���������& �- ��� ����� ������: 3���� �	�&
���	���� �	��%& �� ������� ������ <�	��%& �������=: �	� ��� -��� ���� ��� ����������	 �� ��� �& ��� ���%�
������ ��� �,������� �& �J� ������: 3���� ���	 �
����� �� �� ������
�� ��� �	��%& ���	�-�� ���
�����&:
�� ����� �	 � ����������� ��	��� 4��	 ���  ���� �
��B �� �	 ��� �	������ ��%��	 �- ��� ������
�: �����-���:
��� �����
���	 ���
���� �& �	 $+� �� 	����& �	����	��	� �- ��� !�&	���� 	
�����

��� ���� �- �	 $+� ����
�����	: ��3����: ����	�� �	 ��� !�&	���� 	
���� �- � ����� �
�-��� ��
�����	�: ��	�� �	 ���� ���� ���	 ��� ���%��� ������ �- �����	 ����	� �	 ��� !�&	���� 	
����� *�����	
<�"5"= ��������� ���� ��� �����
���	 ���
���� �� ������� ��� �
��� ��&�� �- � %��3�	% ��
	���& ��&�� ��
���������	�� �� �����: 3���� -�� ��� �����
� �
���&�� <3����: �	 ����	�
����� ����������	�: �	�& ����
	��
-�� �����,������& �L �- ��� ��
	���& ��&�� �����	���= ��� 	
���� �- ���	�� 	����� �	������� �� �����
���� ����	� ��
�: �����
%� $+� ��	 %��� ���� ���������	� ���� #��: �	� �� �,��	��� �� 2�3� ��
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!�&	���� 	
����� �� ����� �	� ����� �- ��%	��
�� ��%��� ���	 #�� �� � �����	���� ����: ��� ����������	
�� �	%�	����	% 2�3� �����	� �,��	����: 
	���� �����,����� ��
	���& ��	�����	�: �� 3��� ������: ���

���� ���� �������� 3��� �� ��������� �	 ������	 5�
�

��
 ���� ����	����	�

��� ������ �- ��� ���� ����	����	� ������ �� 
�
���& �������	�� �& ��� ���
�����	�� ���� 	
�������
��������& �� ���
���: �	� ���� ��� �
��
��	� �����	� �� ���
�����& �������� �	 ����� �3� ��������& ������
����& �� #�� �	� $+� ����
�����	�� ���  ��� �� ��� �����
� ��	�����	: ���� ���
���� ���� ��� ���������
I� �� ���� ���	 I�� A "I#��� <3���� " ����	�� �	 ��� ���
�� ���� ����	����	� �����	=� ��� *7$
��	�����	 ���
���� ���� I� �� ���� ���	 I�� A *7$I��
: 3���� ��� ��,��
� ����3���� *�
��	� 	
����
*7$ ���� ����	�� �	 ��� 	
������� ������ 
���� 7�	���&: ��� ��&����� ��	�����	� ���
���� I� �� �� ����
���	 ��� ���� ����� �- ��� �������� �������� ����� �- �����	: � � I�� � <3����  � �� � ��	������� �������&
�- ��� ���� ����� �� ��� �
��� �������&=�

1	 ���� 2�3�: ��� �����
� ��	�����	 ����	�� � �
�� ������� ��������� ���	 ��� ����� �3�? -��
���� �����	: ��� ��B
���� ����� �- ��� %����	�	% ��
����	� ��� 
�
���& ����	��� 
��	% �������� �������
<�&������&: ��� ����	������� *��	���������	 ������=� ��	��: ��3����: I�� �	� � ��� �- ��� ���� ����� �-
��%	��
��: ��� ��	������� ���� ��	 �� ����	��� �& �,������ ������� �
�� �� ��� ����	������� 9�����
/���-���� ������: �� ������ �� -�
��������� !
	%��G
��� �������� 1	 ������������ 2�3 ����
�����	�: ��
�	 
	��
	��� 2�3� �	 3���� ��� ���� �
�� 	�� �� ���&  	� 	��� � ����� �
�-���: -
��& �,������ �������
��� �-��	 �����&���
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��� ���	��4	���� ���4
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�,��	�	���� �<�= A ���� �� � �<�= A $�����? �-
� �� ��B���	������ 	
��������&: ��3����: ���
���
�� ��

Æ�

Æ�
A $������� <��
=

3���� �� �� ��� M���� �� 3����	
����N�
9 ���� �� 3����	
���� ��������	�� ��
���� ��B���	��	% ������� 1�� ���� ���� ����
����	�� ��� ����	
����	 �- ��� ����
���
���������� �������� �� ��� ���
�� �	�:
3������ � 	�	�(��� ���%�	��& ���� �- �� �	�
������� ���� ����� ������ ��� �	����
��� �&
��� 	
������� ��B���	������	� 7�%
�� ���
���3� ��� ���� ���� �- ��� ���� �� 3����
	
����� -�� �����
� �������� 7�� � ����	��
����� ��	����� ������: -�� �	���	��: �� A
� ��	<�I�=�<�I�=� 7�� ����� 3����	
�����
� ��� 	
������� ���������� �� �
��� ���
�
����? ��%� 3����	
���� 2
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����	�: ��3�
����: ��� �������� �����&� �� ����� ������:
��3����: ��� �	����
����
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���� �
��
��	� 2
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����	� ������� ���� ������ ��3������ ������� ��� 
��� �	 ���&  	� ������
<�
�� ����: -�� ��� �������� ������ ���� ��� ��&������& �������	� �� 	 �=: �� ���� ��%��������� �������
��� �����&�� �	 ������� ������� D�%������� ������� ��� ���� �,��	����: �	 ����� �- ����
�����	��
����
����: ���	 ��3������ �	��: �
� ��� �	������ �	 ���
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1� �� ���& �� ���3 <����	���� �� ��� �""6= ����: �- � �&����� ����������  	������B���	�� ������ �� 
���: ���
 ��� -��� ���� 	�� ��	����� ������ ����	�
� �� �	��%&: ��� ����	� ��	������ ����	�
� �
� 	�� �	��%&:
��� ������ ��	����� ����� 1-: �	 ��� ����� ��	�: � ��	��������
�� �������� �� 
���: ��� �����%�	�� -���
��	������ �	��%& �
� ��� �����
���%�����	� ���� ���� 	��� 4��� � ���%%���� %��� �	� ��	���� ��B���	���
��� ��	��������	 ���������� �- ��� ������������� ��
����	��

8�3�	� ������� ���� ���� ���& 
	��������� �B���� �	 ��� ��	��������	 ���������� �- ��� ����
�����	:
�� ���� ��� �,������ �������	 �- ���� ���� ����������	� 1� 3��� �� ���3	 ����� �	 *������ . ���� ���	 �����&

�3�	�������� ������� ���
�� �	 � ��%	� ��	� ���� �- ���
���&� 1	 �	������������ 2�3�: ����� �&�� �-
������� ��� 	�� �
���� �� #�� �	� $+�: �	� ���
�� �� ��������

��$ %&����� �' � 	
������� ��(������

�	� �����	 ����	��
� 
��� �	 #�� �	� $+� ����
�����	� �� ��� -������	�� ��������� ������ <*����	
�".": G�� E ���	 �"6�=: �	 3����  ��� ��� D�������( ��
����	 �� ������ �� �����	 �	 �������� �- ���
�������&  ��� ���� ���� 	�� �����-& ���� ��	��������	? ��� �����
�� �� ���	 ����
��� �& �����	% 0�����	@�
��
����	: ��� ��������� �������&  ��� �
���&�	% ��� ��
��� ����� 1- � �����
�� ���������	 �� �������: ���
���
���	% �������& 3��� �� � �����%�	���-��� ���
���	 �- ��� ������������� ��
����	�� 1- ��� �������������
��
����	� ��� 3�����	 ��
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��: ������� �� ��� ���
�� �����
�� �&
� A )� <I��
��=��)� ���� ���������	����	� ������ �� ����	�����������
���� �	 �����

�




i,j,k

i+1,j,k_

i,j+1,k_

i,j,k+1_

������ ���	 2
���( �	�
 �	� ��� �����
�4��������� ��������%
��	� 	� ��� 8��
�	��% 
�� 6	���	� �9�
��	���

��� ��������� ���� ��	 �� ��3�����	 ���
��

I�


��
��

�
(� A �I�

�
�



'�
� �

�



'���
�

�
H

�
� H

I�


��
��

�

�� � <����=

��� ��������(����	 �- ��� ��B���	���� ��������� ���
��� �	 � �&���� �- ��%������ ��
����	� �� �� ������?
��� -��� �- ��� �����, ���������� 3��� ��� ��	��� �&���� ����	�� �	 ��� ��������(����	 �����	� 1- ��	����
��B���	��� ��� 
��� �	 ��� ��������	�: -�� �	���	��: ��� ���
���	% �����, �� ��	��� ���������%�	�� <7�%� ��)=:
�	� ��	 �� ������ ����������&: �� ��	 �� ����� �	�� ����� �������%�	�� �������� ���� ��	 �� ������ �	 ���
�	��
<G�� E ���	 �"6�=�

��� 0�����	 ��
����	 <��"=: �	 ��� ����� ��	�: ���
��� �	 � �����, ����: �����
%� ���� �- ��� -���
���3	 �	 7�%� ��): ��		��: �	 %�	����: �� ������ �������&� ������� ����	��
�� ��� �����	�& 
���: �	��
��	%
�
���%��� �������: ��	�
%��� %�����	�� �	�: -�� ����� �	 3���� �	� �� ���� ��������	� �- ����%�	���&
�,���: ������ ��������

�������� �������: �	 3���� ��� �������& �	� �����
�� ��� �,������� �	 ����� �- 7�
���� ������ �	
��� ��������	� �- ����%�	���& �- ��� 2�3: *���&���� �� $�%�	��� ���&	������ �	 ��� �	����%�	��
�
��������	�: ��& ����3 ����
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	���& ��	�����	� ����& ���� ���
����
�����	�� �����	 ������� �����- �	 �	 	��� 	
���� �- ������ 0������� ��
	���& ��	�����	� ���
��	��	��	�: ��	�� ���& �����	��� ��� 	��� �� �����-& �	2�3 �	� �
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����� �
�	���& �
�� �� ��� �������&
��� ��: ���	 -������	 �� �����
�� ���Æ���	�: #�� ���� ����3� ��� ������ ���������	 �- ���� ���� �- ���
������

/����	� �� ��� <�"6�=: -�� �	���	��: ��
���� ��� �B��� �- �������	 �	 �
��
��	��: �	� �������	�� ����
�	 �������	�� ���� ���
�� �� 
��� �	 �
��
��	�� ������ �� ����
	� -�� ��� �������	 �B���� ��������&�
��	��
� �� ��� <�"66= 
��� ���� -��� ��� ���
�����	 �- ���	� ���		�� 2�3 �& G�� �� ��� <�"65= �� ��
�&
��� ����������	 �
�%�� �	 3������
	��� 2�3�: �	� 3��� ���� �� �,���	� �	 ������ ��� ��&������� ��������
�- ��� �
�%�� ������ !�%��� �� ��� <�"6"= 
��� #�� ���� �� ������� �������� ������ �- ������� ������
���	������

#�� ���� ��� ���� ���	 �,������& ���
���� �� ��
�& ��� ��&���� �- ��� �
�%��������� ��������: �	�
������ �������� ������� ���� �� �������� �&  �����	% ��� #�� ���� �� ����
�� �,�������& ��� �J� ��������:
�� 3��� �� ����� �������	� ����� <� 	��
�� ����= � 8	��� ���& ����	��&: �
�������	� �,������	��� ���� ����
��
�� ��  ������ �	 �
�� � 3�& 3�� 	�� ���������� � 	��
�� ����� ���� ���	 ���& ���
���� �	 
	������	��	%
��� �����	���� ���� %����	 ��� �	��%& ���	�-�� ���3��	 ��� �������� �	� 
	�������� ������ �- �����	
<0������� �� ��� �"66: #������(�� �� ��� �""): �� 0������� �� ��� �"".=�
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0������ ��� ���� ��%	� ��	� ��	����
���	 �- #�� �� ���� ��� ���	 ��� ���	�� �����	 �	� ��
����	 �-
�
��
��	� ���
��
���� ��	�� #�� �
������ ��� �������& �	� ��� %�����	�� �� ���� ���	� �	 ����� �	� ����:
�� ����3� ��� �	�����%����	 �- ��� �������	���� ���3��	 ��� �������� ���
��
��� �	� ��� �	��%& �	� !�&	����
������ ����
����	 <!���	��	 �""��: �""��=�

������� ������� ��	 �� 
��� �� ���
���(� ��� ������	� ������ �	 � �
��
��	� 2�3� !���	��	 <�""��=
�������� �����
� ����	��
��: �	� -�
	� ���� ��� �����
�� �� �B������ �	 ���	��-&�	% ��� ��%��	� �- ����	%
�������	 �	 �����, ������ D
	� �� ��� <�"66= �������� ��� 
�� �- ��� ����	� �	�����	� �- ��� �������&�
%�����	� ��	���:
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 ?� 0
�
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3���� ��� �	� O�� ���: �����������&: ��� �����	����� �	� �������	 ��	����: ���� ��: ��� �&������� �	�
�	����&������� ����� �- ��� �������&�%�����	� ��	���? �	 ��%��	� 3���� � + ' ��� ��������& �� ��%	� ��	�:
�	� �� �
� �� �������	 ������ ���	 �� ������

1	 7�%� )�� ��� �����
�� �� 
��� �� ���
���(� ��� ������	� ������ �	 -
��& ��������� �
��
��	� ���		��
2�3 �� ��
 A 

Æ�� A �6' <3���� Æ �� ��� ���		�� ���-�3����: �	� 

 : ��� -������	 �������&: 3�� �� 	�� �	
*���� �=� ����  %
�� ���3� ��3 ��� ��%��	� �- ��%	� ��	� !�&	���� ����� ������ ���
� �	 ����� ���,����&
�- ��� �
����������3��� �������� ���
��
���: ��%���%���� �& ���3�	% ��� ��3������
�� ��%��	� ����������
3��� ��� �����, ����� <��%��	� 3���� �� � ��=� ��� �������	� <��%��	� �	 3���� 
� � ': (� + ': �	�

�

�

(�
�

� ��=: ���
� �	 ��� 
��3��� ���� �- ��� �����,: 3������ ��� �3���� <��%��	� �	 3���� 
� + ':
(� � ': �	� 
�
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(�
�

� ��= �	 ��� ��3	�3��� �����
7�%
�� )�
 ��%���%��� ��� �������	���� ���3��	 ��� �3���� <��%��	� �- ��%������� 2
�� ����	% ��3����

��� 3���=: ��� �
����������3��� ��������: �	� ��� ��%��	� �- ���%� 
�(�� 9��
	� *� A ��': -�� �,�����:
������� �
����������3��� �������� ���
��
��� ��	 �� ��������? ���& ����� �� ����� ���
��
���: ��%��	� �-
��%� !�&	���� ����� ������ ��� ��������

"�" .��( ���
����	 �	� �
��
��	�� ��	����

���� ����	��&: #�� ���� ���	 
��� �� ��
�& ������%��� �� ��	���� �
��
��	��: ���� ������� �	� �������
*��� �� ��� <�""�= ���-����� ��� ���
�����	 �- ��� 2�3 ���� � %������ �
�-��� <� ������ 3���= 
��	%
� ����	�����������
����  	������B���	�� ������ �	 %�	�����(�� ������	����� !������ ��� ���	 ��
����
�,������	����& <4���� �"6': �	� ������=: �	� ��� ���	 -�
	� �� ����
�� 	�� ���% ���
����	 �- 
� �� 6L
3��	 ��� %����� �����	% 3�� ���� ���	 
� 3��� 
	���: ���	 ���
%� ��� �
�-��� �,����� �� ��� 2�3 3��
�	�������� #������ ��� �,������	��� ��
����: ��� �����	���� �& 3���� ��� ������� ���
�� ���% 3��� 	��
&�� 
	�������� 3���� 7�
� ��	 %
�����	� 3��� ��
����: 3��� ������ �	%��� �- )� �	� .' ��%����: �	� %�����
�����	%� �- 
' �	� )' 3��� 
	���� *�	�����	� 3��� ��� �,������	��� ��
����: ��� ��3�� �����	% &������
���% ���
����	 �- � �� .L: 3���� ��� ��%��� �����	% %��� ���� �� � ���% �	������ ���&�	% ���3��	 
 �	�
�
L: ���
�� �	 �,�����	� �%�����	� 3��� ��� �,������	��� ��� ���	 2�3 3�� -�
	� �� �����	 
	�-��� �	
��� ���	3��� ��������	: �,���� ���& 	��� ��� �������� ��� 3��� ����� 3�� �
����	�����& ���
��� ���� ����
�- ��� ������ �
�-���? �	�& 	��� ��� ������ ��� ��� 3��� ����� 3�� ���%�� ���	 �	 ��� 2�� 3����

7�%
�� )��� ���3� ��	��
�� �- ��� �	���	��	��
� 3��� ������ 1	 ��� ,� A 
' ���� ��%��	� �- ��%� 3���
����� �	�& ���
� 	��� ��� ������ ���: 3������ �	 ��� ���%��	������	% ���� ���& ���
� �	 ��� %����� �� 3���?
����� ��%��	� �- ��%� ����� ��� �-��	 ����������: �	 3������
	��� 2�3�: 3��� ��� ��3	�3��� �- ����	%
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������3��� ��������� ��� ������2�3 �������& ��	��
�� ���3	 �	 7�%� )��� ���3 ���� ���	���	�	 ���&
������&� ���& ���� ���3 ��3 ��� ������3��� ��������: 3���� �����%� �������� �� �����,������& �' 3���

	��� <G�� �� ��� �"65= ��� ���� �����& �� �� -�
	� �	���� ��� %����� �	 ��� ,� A )' ���� ���	 �	 ���
,� A 
' ��	 %
�����	� 4��	 ��� �������� ���� �	�� ��� ������ �����& <7�%� )�)=: � ���%�� ���� �� �,�����
�� ��� ��3	�3��� �- ��� ��������: ���
���	% �	 ��� �	������ �	 ��� �����%� -������	 ���Æ���	�� *�	������&:
3��	 ��� �����	% �� ������� ���	 ��� �����%� �����, ��������: ��� �������� ��� -����� �� ������ ����� ���
������ ����: 3���� ���
��� �	 ��� ������	�	% �- ��� �����
� �
���&��: �	� �	 � ������� ��%��	 	��� ��� ���
���	% �,����� �� ��� ��3	�3����

9����� ��	���� ������%��� ���� ���� ���	 �,������ �& #�� <���: -�� �,�����: ��� ����	� �����3 �&
$
���& E /�����& �"""=� *��� �� ��� <�"")= ������� M���������	 ��	����N �	 ���		�� 2�3 �� ��
 A �''�
/& ����&�	% �
����	 �	� ���3�	% �� ��� 3��� �� ������ ��� �������� �����	 �- ��� 2
�� ���� �����	��
�3�& -��� ��� 3���: ���& �����	�� ���% ���
����	 
� �� 
�L� D����	� �� ��� <�""6=: �	 ����
�����	�
���-����� �� ��
 A �6': �������� ���� ��� ���������	 ��	���� �� �B������ �- ��� ��������	 ���	� �� �
���
����� �� ��� 3��� <� �����	�� �- �� 3��� 
	��� 3�� -�
	� �� �� �������=� 1- ��� ��������	 ���	� �� ��� -��
-��� ��� 3���: ��� 2
�� �������� ��& ���	��� �3�& -��� ��� ���	� 3���� ��� ���3�	% �� �������: �������&
�	��	% 	��� � ���	� �	 3���� �
����	 �� �������� ���� ���
��� �	 �	 
	��������� �	������ �- ��� �
��
��	��
�������

/�3��& �� ��� <
'''= ������� ������� ��	���� �����& �� ���
�� ���% �	 �
��
��	� ���		�� 2�3 ��
��
 A �'' �	� �6'� 1	 ����� �������� � ���� -
	����	�� 3�� ��	���(�� ���� � ������	 ���� �	������: ���
M����(�	N� �&����� ���� -
	����	��� �	������ ��� ���%: ��� �
��
��	� ��	���� �	��%&: ��� �	������& �� ���
�����	�� ���
� �- ��� �
��
��	� ��	���� �	��%&� ��� ���� ��	���(����	 ���
���� ���
���	 �- ��� �����	�
������������� ��������� ���& ���3�� ����: -�� ��	% �	�
%� ����(�	�: ��� ���-����	�� �- ��� �������
��	���� -�� �,������ ��� ���� ���� ��
�� �� �����	�� 3��� ���������	 ��	����� 7�%
�� )�� ���3� ��� ���%
������& �	 ��� ���	� ���		�� 3��	 �����
� ��	���� ������%��� 3��� �����&��� ��� ���� ��	���� ������%&
3�� ��� �	� �	�����	% M�����	�� ��	����N �- ��� �
��
��	� ��	���� �	��%&: ����: �	� �	 3���� ���  	�� ���
�
�- ��� �
��
��	� ��	���� �	��%& <������ ���	 ��� �	���	��	��
� �	�= 3�� ��	���(��� ���� �������� ����3�
��� ���� -
	����	�� �� �	������ 3����	 ��� ������(����	 ����(�	: �
� ����� �� ���� �
����	���� ���
����	
�- ��� �
��
��	�� ����� �� ��� �	� ��� ����(�	: �� ���3	 �	 ��� 7�%
��� ��� 2�3: 3��	 ���� �&�� �-
��	���� 3�� �������: ������ ����	��? ������� ���
��� 3��� �����	�� �� ��
 A �6'� 9����
%� ��� ��	����
��%������ 3�� ����
�����	���& ���& �,��	����: �� ��� ���	� �- ���	% �	-������� �	 ��������� ����������	:
�� 3�� �,������& 
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� �	 �
���&�	% � ���%��: �� 3��� �� �	 ���
������	% ��3 ��	���� ������%��� �B��� ���
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��� ��
����	� ����� ���3 ���� ��� �������� ������ �	 � ��	���� ���
�� <� %��� ����: -�� �,�����=:
�,���	%� �	��%& 3��� ��� 
	�������� ������ �	� ��� �
���
	��	%� ����
%� ������� �����	����� ���
��������	 �	� ��B
���	 ����� �� 	�� ������ �� ������& �������� �	��%& �
� �	�& ���������
�� �� ���3��	
�����	�	% ���
���� ��� ���� �3� ����� �	 <���= �������	� �����������& ��� �������� �	��%& ���� �& �����
�
����������	 �� ��� �������������� �����: �	� ��� 	�� �	��%& �,���	%� ���3��	 ��� �������� �	� 
	��������
������� 9����
%� ��� �
�%��������� ����������	 ���� A ������ ��	 �� �������� �� 	�%�����: �	 ��� �����%�
�	��%& 2�3� -��� ��� ���%� �� ��� ����� ������: �	� ���� � ' <-��3��� �������=? ����������� ���
�� 3��	
��� �	��%& 2�3 �� �������� <���� + '=� ��� ����� ���	�-�� �- �	��%& ���3��	 ���%� �	� �
�%��� ������ ��
��� �J� ���	�-��: �
� �- �J� ��B
���	 �	� ����������	�

��� �	��%& �,���	%� �����	���� -�� ��� �
�%��� ������ ��� �������? ��� ��������	 �	� ��B
���	 �����
��� �%��	 ���������
���	 ������ ��� �	��%& ���� �& ��� �������� ������ �� ��� �
�%��� �	�� ������� �� �
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��� ���� �	 ��� ���	����� ��
����	 -�� -����> ��� �J� ��B
���	 �	� ����������	 ���� �������� ��%	� �	
<���= �	� <��
=� 1� �� �������	� �� ���	� �
� ��� ��B���	�� ���3��	 ��� �����
� �	� �J� ����������	 ������
��� �J� ����������	 ���� �������	�� �	 �	��%& �	������	%� ���3��	 �������� �	� 
	�������� ������: �	� ��
%�	�����& � ����������� ���� �	 ��� ��
����	 -�� -� �	�: ��	������&: � ����
����	 ���� �	 ��� ��
����	 -��
-����� ��� �����
� ����������	 �����: �	 ��� ����� ��	�: �������	� � 	�� ����: ��� �������� �� �J� �	��%&
���������� �& ��� �����
� -������

$�
 %��+ ��������+ ������

���� �
�%��� ����� ������ �	 
�� �����	��& ��� ���&���������& ������ �- ��� -���

��� �
Æ��
�
��� A �
����� � <���=

���� ������ ��� �
�%��������� �������� ��� �� ��� ���%������� �����	����� ��	��� ��� � 1	 ���� �����: ��� ���&
��������& �� �� �����	�� ��%���������& �� ����� �����	% �������	�� ��
����	� ���� 3�
�� �	������ ��� ����
�- �	 ������& �,��	���� ����
�����	� ��������: ��	�� ��� ����� ������ ��	� �� �� ���� ����%�	��
� �	�
��������� ���	 ��� ���%� �	��: �� �� ����� ���� ���	 ������: ��%������ ������ ��	 �������� ����� ��&����
���
�����&� 7�	���&: ��	�� ��� �J� �������� �	�& ����
	� -�� � -������	 �- ��� ����� ��������: ������	%
������ ���
�� 	�� �B��� ��� ������� ���
���& �- ��� ���
��� �� �
�� �� �	 ��� ���	���� �
��
��	�� ������	%
���������

��� ���& ��������& ��: �& ����	���	�� �	��&���: ��� ����
�� �- � ��	%�� �����: .: �	� � �������& �����:
-���� ��	�� ��� ���� ������ �- ��� 
	�������� ������ ��� ����� ������� �� ��� �
��B: ��� 	��
��� ��	%��
����� �	 $+� ������	% �� ���  ���� 3����: 3���� �� ��� ��(� �- ��� �������� ���
��
�� �	 ��� 2�3: �	� ��
���������	�� �� ��� %��� ��(�� ��� �������& ����� �� 
�
���& ����	 �� �� ��� ��
�������� �- ��� ����� �- ���
�J� ������ ��	���: -���� A ��� � 9����
%� �	 ���� ����� � ���	����� ��
����	 �� ������ �� �������	� -����: �	
���� ����� ��� ��
������
� ���
�����	 �� ���� �� ������-& ��� ������� -
����� �	� �����	 �	 ��%������
����� -�� ��� ���& ��������&�

��� ��
������
� ���
�����	 �� ����� �	 ��� ��	���������	 ���� ��� ����� ������ �- �����	 ���� �������
���� ������ ���	 ��� ���%�: �	��%&�����&�	% ������? ��
�: �� ��	 �� �&�������(�� ���� ���& ���
�� ����
������& ���	 ��� ���%� ������ �� ����
������	�: �	� ������� ��
������
� 	����& �	���	��	��
��&� 8	���
���� ���
�����	: ��� ���	����� ��
����	 -�� -����: <��
= ������ �� ��%	� ��	��&: ��	�� ��� ����� ���� �
�:

�,���� ��� ����
����	 ����: ���� A ������ : �	� ��� �����
� ����������	 �- �J� �	��%&: ��: �� &����>

������� A ��� <��)=

��� ��
������
� ���
�����	 ������� �	������ ��	%� �&	�����> �	��%& �� %�	������ �� ��� ���%������� �����:
�	� ���	������� �� ������� �	� ������� ������: 3���� ��� �����
� ����������	 ����� ������ 0������� ��
��� <�""5= ������� �
� � ��
�& �- ��� �
�%��������� <�J�= �������� �	 	�	���
������
�: 3������
	��� 2�3��
�����  	��	%� �	������ ���� ��� �J� �������� ����� �� ��� ���������	 �- ��� ����
������	 ���� ������&
���	 ��� ���%������� �	��: �����
%� 	�� �	���	��	��
��&�

$�� ���(���	��+ �����

��� ���%���	��& ����� <�".�= ��: -��� �	 ���������� ���	� �- ���3: ��� ���%�	���� �- ��� �
�%���������
������ ������� 1� �� ����� �	 ��� ��
������
� �&�������� <��)=� 1- ��� �����
� ����������	 �� �������
�� �� � -�����.: �	� <���= �� �
�����
��� �	�� <��)= 3��� �� � .-���: �	� �����	� -��� � .���: 3����

��� A <
������=
�	� �� ��� ��%	��
�� �- ��� �����	����� ��	���� $����	% . � I: ��� ���& ��������& ��	 ��

3�����	 ��

�� A <!�I=
����� <���=

��	�� ��� ��	���	� !� <��� ���%���	��& ��	���	�= �� ����: ��� ����� �� �����
���& �����������> ���� A
�<!�I=

����� � '�

�� ����
��� !�: $���& <�".5= ���
��� ��� �,����	�� �- �	 �	���������	%� ������
� /<�= A G� ��	����	�:
3���� � �� ��� 3���	
����: G� ��� G����%���� ��	���	�: �	� � ��� ����� �����
� ����������	 <�
� ��
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���� �������� �	� �
�%��� ������= 3���� 3�� ���
��� �� �� �����,������& ��
�� �� ��� ���	 ��� ��	 ��
����
���� �����,������& �& �	��%����	% ��� ����������	 ������
� ���� ��� �������� 3����	
�����
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A '��6� <��5=

1� 3��: ��3���� -�
	� �& #������B <�"5'=: �	� �
����
�	��& ��	 ���� �	 � 	��
�� ����� �& �������	
�� ��� <�"6'=: ���� �	 ��� �����	�� �- ����� ��� ���Æ���	� �
�� �� ���
��� <���
�� �- ��� ����� �- !� 	
'�'.�� '�� ��� �����	�& 
���=�

7�� %���� ���� ��� 
	�-��� �	 ��� ��������	�: ���  ���� 3���� �� ���������	�� �� ��� %��� ��(� �	 �	&
��������	 <�&������&: I A 
I�=� 4��	 ��� %��� �� �	����%�	��
�: �� �� �����	 �� 
�� �	 �����%�  ����
3���� %���	 �& I A 
<I�I#I*=�		�� 7
���������: �	 ��� �����	�� �- ����� ��
	������ ��� ��	%�� �����
	���� �� �� ���� �� �& ��� �	����
����	 �- ;�	 #����� <�"�.= �����	% �� ����
	� -�� ��� ���
��� %��3��
�- ��� ����� ������ 	��� ��� 3���? ��� ����� �� ���	 ������ �	 ��� -���>

�� A
�
!�I

�
�� ���

�	��
���

���� <��6=

�� ���
�� ��� �J� �������� �
��	% ����	����
��
��	� ���	�����	 �	 �	��������	�& -����� 3�� 
��� �&
0������� �� ��� <�""'=: 3���� ;��� E K�	% <�""�= ��������� � ��3�!�&	���� 	
���� ���������	 �	� 
���
�	�& ��� 2
��
���	% �����	����� ��	��� �	 <��6=�

$�" �/�����	� ����
���

�3�����	� ����
��� ���� ���	 �	 �����	����� 3�& �� ������ �J� ������� G�����	�	 <�"5.=: 
��	% �
�3�����	� ����
�� ����� -�� ��������� �
��
��	��: ����
��� ��� �	��%& ���	�-�� -��� ��� �������� �� ���

	�������� ������: ����<����=: %���	 � �
��B 3����	
���� �� �&�	% �	 �	 �	 	��� �	������ �
���	%�� D�
���	 �� 	�� ��� 	�� ���&���������& -��� ��� ����
����� �
�%��������� ���	�-��>

��<����= A �
����<����=


��/<�=
� <��"=

7�� �� �&�	% �	 ��� �	������ �
���	%�: ��� 	�� ���& ��������& ���������� � ���	����	��	� ���& ��������&
-�� � �� ��� ���� ��: ��3����: ���� � 	�%����� �	� � �������� ��	����
���	 ��� ��%	� ��	�? ��� 	�%�����
���� ��������	�� �� �	��%& ���	�-�� -��� ��� ����� �� ��� ���%� ������ <�����������: �� ���& 	����=� ���
	�� ���& ��������& �	������� 3��� �	������	% ���� �� �  	��� �
�� �� ���� A ��

*������ E $����
� <�"6�= 
��� ��� +��&�#�����: P
���������� ��������	 <+#P��= �����& ��
������� � �J� ����� 3��� ������� ���
���� ��� *�������$����
� <�"6�= ����� 
��� Q��/<��=R

�	� ��
�������& �����: �	� ���� �� ��	%�� ����� -�� ��� ���& ��������&: 3����: �	 3��� �����: �� %���	 �&

��� <�= A ���� <����= Q/<��=���R�	� ? <���'=

���� <����= ��	 �� �����,������ �& <*������ �"6)=

��� <����= A G��
�
� Q'�))� H ���
 �,� <���'�����=R � <����=

3���� ��� ���
� �- ��� G����%���� ��	���	� 3�� �����	 �� �� G� A ��)� ��� *������ ����������(����	
�- ��� ����	���	���� ���& ��������& �� ���3	 �	 7�%� ���� ��� ���& ��������& %��� �� � ���	����	��	�
��	���	� -�� ���� �� �: �	� ����� �� �  	��� �
�� �� ���� A ��

��� *�������$����
� ����� ����
��� (��� ���& ��������& �� ��	% �� ����� �� 	� �	��%& 	��� ��� �
��B?
�� ��: ��3����: �� 	�� �	 3��� �����: 3���� ������� ��� �,��	���	 ��  	������B���	�� ������� �	� ��
������, %���������� �� �������� ���� ���������	%: �F����� E $����
� <�""
= ������� ��� M���
��
��
-
	����	 ������N 9��
��	% � �
��B 3��� 	
���� �	 ��� �	������ ��%��	 �- � G����%���� ������
�: ���&
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������ 
��	 ?	�4��
����	�
� ������
� ���� 3���	���� 
� �
�

�����%�� �� A�	����  ,-=/! 
�� 2D��
�� *

�������  ,--C! �	� ���������� 	�����" 
 ��� �������
� ��� ����� �	�����	�� �	 � < =�B  �	'���! ���	�"�

� < C�B  ��"����!� 
 �	��� ���� ���	��� 
 0	�
	"	�	3 �������
  � < E�B!�

�,������� ��� �	��%& ������
� �� ��� �
��B: /<��=: �	 ����� �- ��� �������������� ����	������� �������&
���
��
�� -
	����	:

0�<)? I= A �Q
�<)H �=� 
�<)=R Q
�<)H �=� 
�<)=R�� <���
=

3���� �
� �� �	 �	������������%� ����	 ���� ��� ���	�� �
�� ���� ��� A I: �	� �����	��

�� <)= A '�'.�I
�
0 �<)? I=

��	�
� <����=

1� �
�� �� �������� ����: �- �	 ��������� %��� �� 
���: ��� ���
��
�� -
	����	 ��	 �� ���	 �� �  	���
��B���	�� �����,������	 �- ��� �������& %�����	� ��	���>
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A I
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���� H &�&�



� <���)=

<3���� O�� �� ��� �	����&������� ���� �- ��� �������& %�����	� ��	���: �	� &� ��� ��������&=: 3���� %����

�� <)= A '�'.�I
� 	
���� H �&��


�	�
� <����=

7�� ��������� 2�3�: ��� ����� �� ���� ����������� ���	 ��� ���%���	��& �����: �	 3���� ���
�� �
�� ��
!� A '��6� '�
� ��� �����	�& 
���? ���� �� ��2����� �	 � ���� ���
���� ���������	 �- ��� �	������ ��	%�
<���: -�� �	���	��: 7�%� 
 �	 ��� ������� �& $����
� E �F����� �""�=� 7�� ������� 2�3�: ��3����: ��� ���
��
��
-
	����	 ��& �� �,��������& ������������ 1������� ���
��� 3��� �����	�� �& ����&�	% � $�������	  ����
�� ������ ��� ��	����
���	 �- ��� ���%��� ������ �� ��� �������& %�����	� ��-��� ����
��	% ��� ���
��
��
-
	����	 <#
���� �� ��� �"".=�

�F����� E $����
� <�""
= ���� �������� � ���� �����	 �- ��� ���& ��������& �	 <����= �� ����
	� -��
��������	� �- ��� ������
� -��� ��� �C� G����%���� ��3� 9��
��	% ���� /<�= � ��� %���� � ���������	
�� ��� ������
 �����: 3���� �� ��������� -�� 1 + ��� <��� 7�%� ���=: 3���� ���	���	�	% � �
������� ��������
-�� � 	 ��� ���� M����������&	���� �����N ���
���� �	 �������� ���
��� �	 ���	�����	�� 2�3�: �	 ���
	����3��� ��%��	 �- �
��
��	� 2�3�: �� �	 ��%��	� �- �	��������	� 2�3: 3���� ��� ������
� �� ������� ���	
���	� <��� $��������� �� ��� �""6=�

$�$ ������������� �	� ��&�� ������

������������� ������ ��� ����� �	 ��� ���
�����	 ���� ��� ���� ������ �
�%��� ������ ��� ����� ������ ��
��� �
��B: �	� ���� ��� ������ 3��� 3���� ���& �	������ ���� ��� ����� ��%�� ����� ��� �
��B </����	�
�� ��� �"6'=� ��� M���%��� �
�%��� ������N ��	 �� �����	�� �&  �����	% ��� �J� �������& 
�� A 
� � 
� ��
�����	


�� A 
� � 
�� <���.=


.



1- ��� �J� �������� ��� ���������� �	 ����� �- 
� �	� 

�

�: <���.= �� 
���: �	� � ���%���	��& ����� ��
����� �� �������	� ��� ����������� �B��� �- ��� ����� ������: ��� ��,�� ����� ��	 �� 3�����	 ��

��� �
Æ��
�
��� A !�

�

�
� � 
� 
� �

Æ��
�

	

�
� � 
� 
�


�
� 
����� � <���5=

���  ��� ���� �- ��� ����� �� ��� ������������� �����? ��� ���%���	��& ��	����
���	 �������� ��� ������
�����	 ���� �� 
	������������ �& ��� ������������� ���� ���	��

9	����� -��� �- � ������������� ����� ��	 �� �����	�� �& ����&�	% � ����	�  ����: ��: 3��� �������
�������� ��	%�� �I + I: �� ��� �������&  ��� <$�
 �� ��� �"")=� ��� �J� �������� ��	 �� ����������(��
��

��� A �
����� H �
�
� � �
� �
� � <���6=

���� ����� ��� ���	 ������� �& 9	�����	 E ��	����
 <�"""= �� ��� ���
�����	 �- ����%�	��
� ���������
�
��
��	�� ����&� ������������� �	� ��,�� ������ ���� ���	 ����	��& ��������� �	 ��� -����3��� �-
�&	���� ������	% ����� �	� 3��� �� ����
���� ������

$�) .+	���� ������

��� �	����
����	 �- �&	���� ������	% ����� <J����	� �� ��� �""�= ��� ��
���� ��%	� ��	� ���%���� �	
��� �
�%��������� ������	% �- 	�	���
������
� 2�3�� 1	 �&	���� ������ -�� ��� �
�%��������� ��������:
��� ����� ���Æ���	�� ��� ����
��� �&	�������& �� ��� ����
�����	 ���%������: ������ ���	 �	�
� � 	��
��
�� �	 ��� ���	���� ���%���	��& <�".�= ������ ���� �� ������������ �& �� 	�	% � ����  ���� <��	���� �&

� �����= 3���� 3���� �I �� ���%�� ���	 ��� 
���  �����3���� I <�&������&: �I A 
I=� #&	���� ���
����	�
�- ��� ����� ���Æ���	�� �� ����� �	 ��� ���	���& <J����	� �""
=

+�� � ��� � ���� � <���"=

3���� ������� ��� M�������� �
��
��	� ��������N +�� A �
�
���
� �
� <��� ��	����
���	 -��� ��� ��%��	 ���3��	

����� ���� �	� %���� ���� �����=: ��� �
�%��������� �������� ��� �	� ��� �
����� �������� ��� A �
�
� � �
��
� :
3���� ��� �����	�� �& ����&�	% ��� ����  ���� ��: �- �������������� 3���� �I: �� ���  ������ �������������
��
����	��

*�	����� 	�3 �	 ���&���������& ����� �� ������
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^
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�
	 ����4 
�� ����4�������" �	� ��� ���
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	����

�����(� ���� �
�%��� �	� �
����� ��������: �- ���
-���

��� A �
!��� ? ��� A �
!2�� � <��
'=

8��	 �
�����
��	% <��
'= �	�� <���"=: ��� ���	���&
<���"= ��	 �� ����� �� �	�& �����,������&: ��	��
��� �������� ��� �������� �& ������	% ���
���
���	�: �	� ��� �&���� �� ������������	�� < �� �	�
����	��	� ��
����	� ��� ��������� �� �������	� �
��	%�� ���Æ���	�=� $���& <�""
= �������� ���� ���
����� �	�
���� 3��	 � ��	%�� ���Æ���	� �� 
��� ��
��	���(�� �	 � ��������
��� ��	���� ��� ����� ��

��� A +�� � ��� H���� A +�� H 
!3�� � <��
�=

3��� 3�� A 2�� � ���� � ��� ��������
���� ��	��
��(����	 ������
�� ���
���� ����
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	!
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	��������

	!
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�
���
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�
A ' <��

=

�.� �� 
���	�� ���� ��
� ��� 	���� ���Æ����� �� �	���� �� ��� �/ ��
��� 
�� �
�� �����!���� �� ����
���� !��	 ��� #������"
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3���� ��� �������� �	������ �	 ����������� �	������ �����%�? ��	�� 	����	! A 
3�� : ���� ������� ����

�<+�� H 
!3��=3��� A ' <��
�=

3���� %����

! A �
�




4��
4��

� <��
)=

3���� 4�� A �/��0����
���� ������
�� ��	 �� ������� �� ��,�� ������: �� ������ 3��� ���� ���	 �	� ���Æ���	� �� 3���� 7��

� �	�����Æ���	� ��,�� ����� �- ��� -���

��� A 5�� � 
!��� ? ��� A 6�� � 
!2�� � <��
�=

��� ��������
���� ��	���(����	 ������
�� %����

! A �
�




4�� � 4��
4��

� <��
.=

3��� ��� A 6�� ��5�� � 1	 ��� ���� �- �3� ����� ���Æ���	��

��� A !�5�� � 
!���� � ��� A !�6�� � 
!�2�� � <��
5=

�� �� 	�������& �� ���
��� ���� 	/��	!� A 	/��	!� A ' �� &����

!�<)� �= A
4��4�� � 4��4��
4��4�� � 4��4��

� <��
6=

!�<)� �= A �
�




4��4�� � 4��4��
4��4�� � 4��4��

� <��
"=

��� �	������ �����%� ��� ��� �
����� �- ������	% ���& ����� 2
��
����	� �- ��� ���Æ���	�: 3����
��	� �� ���������(� 	
������� ����
�����	�: �	� ���� ��� ����� �	��	�����	�: ��	�� ��� ����� ���Æ���	��

��		�� �� �,������� -��� ���  �����	% ��������	 <����� ��� ��B���	���!��� � !���� ������� ��%	� ��	�=�
J����	� �� ��� <�""�= �����%�� ��� ����� ���Æ���	� ���� ��� ����%�	��
� ��������	�: ������& ������	%
���������& ��� ������������ �	��	�����	�&� J����� �� ��� <�""�= 
��� �	 �	��%��� -���
�����	 �- ���
���	���& <���"= ���� ��%���
��& ������� ��� ������������ �	��	�����	�& �� ��� �,��	�� �- ����	% �� �����
�	 �	��%��� ��
����	 �� ���� ��������� <�	 �,��	�� ���������� �� ��� ���
���	 �- � 0�����	 ��
����	:

�����-��� ��%	� ��	�=� $�����(��  �����	% ��	 �� ���-����� ���� ��� ����� �I <����3��� �
��� ���� �& ���
��	���������	 ����: �- ��� ���� ���Æ���	� �� 
��� �� ����� ���� ��� �	� ��� : �� �
�� �� ������ �	 ���
����� ���� �����=� S�	% �� ��� <�""�= ���-����� ���� �&�� �- �����%�	%? ��� �	��
���	 �- ��� �������������
���� �	�� ����� ����� ��������� ��� ��	����
���	 �- ��� ���&���������& ����: �	� 	� ��
���
��& ��%� ���
��
�- ��� ���Æ���	� 3��� ���������

��	����
 �� ��� <�"".= �������� � $�%��	%��	 �	������ �����%� ����� �	 ��� ��	���������	 ���� ���
�����& �B���� ���
�� �� ����
����� �	 � $�%��	%��	 -����3���: -����3�	% ��� 2
�� ��������: ������ ���	
�� �	 +
�����	 ���	�: 3���� ���� ��B���	� ���������: 3��� ��B���	� ���������: �� ���� �	���	�� ���� �����%�
�� �� 	�� ��

,� A ��� A

� �

��

�<��=7 <�� ��=��� <���'=

3���� ��� �	��%��� �� ������� �
� -����3�	% � 2
�� �������	�� 1-7 <�= �� �����	 �� �� �	 �,��	�	���� -
	����	
<�� %��� ���� 3��%�� �� ����	� �����= ��� �	��%���� �� ��������� 8 ��� %����	�� �& � ����������������&��
���	����� ��
����	: �	� ��	 �� ��	��	��	��& ����
���� 
��	% � ������ ����,����	 ����	��
�? -�� �	���	��

,��� A

� �

��

+��<�
�=3��<�

�=7 <�� ��=���

A '
�
�+���3

�
�� H <�� �=,���

�� <)� ��I�=
�

<����=

3���� ' �� ��� D�������� -
	����	: ��� ����
����	 �- ��� �	��%���� �� ��� $�%��	%��	 ���	� ) � ��I�
�� ���-����� �& ��	��� �	����������	: �	� � A <I��� =�<� H I��� =� ��� $�%��	%��	 �����%�	% ��� ���	
���-����� �
�����-
��&: 3����	 ��� -����3��� �- ���&���������& �	� ��,�� ������: �& 4
 E ��
����
<�""5=: 9	�����	 E ��	����
 <�"""= �	� ���%��	� �� ��� <�"""=�
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$�, .���	���
���	 ������

M#���	���
���	N �� ��� ������� �- �����	���
���	% ��� ����� <
	 ������= �������& 
� A 
� H 
�� -��� ���
�������� �	� 
�� 1- ���  ���� -
	����	 � �� �	��������: ����	���
���	 �� �������: ��	�� �� �����& ��	����� �-
����&�	% ��� �	�����  ����: ���: �� 
�� ��� ���	 ��Æ�
��& �	������ �	 ����	���
���	 ��	����� �	 ��� -���
����  ����� 3��� ������� �
����� �	 7�
���������� ��� 	�	��	��������: ��	�� ����� ����������	 ���
��� �	
���� �- �	-�������	� ���� ������� ���� ��� ����	���
���	 ��	 �	�& �� �����,�����: �	 ��� ��	�� ���� �	�
��	 �	�& �����	 �	 �����,������	 
�� �- ��� ����� �������& 
� A 
� H 
�� -��� ��� �������� �	� 
��

J���	 �	 �����,������	 
�� �- ��� ����� �������& 
�: ��� �J� �������� �� �� ������� �������& �	 �����
�- ��� ��������� ����� �������& ��

��� A 
�� 

�

� � 
�
� �� ��� A 
�� 

�

� � 

�

� 

�

� � <���
=

��� ������������� ����� <���5= ��	 �� �	��������� �� � ����	���
���	 ����� �	 3���� 
�� A 
��
!���	��&: ������� ������ ���� ���	 ��������� ���� 
�� �����,����� ����	���
���	 �������� ����

�	� 7��(�%�� <�""�= �� 	�� ��� �	�����  ���� �	 ����� �- � ��&���������� �,��	���	 �- ���  ������ �������&
<$��	��� �"5)=� ���& ����
����� ���	�����		�� 2�3� �	� �����	�� �������� ���
��� �������� 3��� ���
���	�������%�� �&	���� ������

#������(�� �	� ���3������ <�""5:�""":
'''= ��������� ��� M�
�%��������� ���������	 �����N� 9��
���
%� ����� �������� 3�� ���%�	���& ��������� �	 7�
���� �����? #������(�� �	� $�� <�"""= �,��	���
�� �� ��� ��&����� �������	�����	 �- ��� �������&� 1	 ��&����� ����� ��� �
�%��������� ���������	 �����
��	����� �	 ��������	% ��� �������& �	 �  	�� %��� ���	 ��� $+� �	� �& 
��	% �	 �����,����� ����	���
�
���	 ������
��: �	 �,��� �	������	 �- ��� �������  ���� <3���� ���� 	�� %��� �	& �������	�� �	-�������	
���
� ��� ������ ����3 ��� �
��B=: -����3�� �& � M�&	���� ����N: � ���������	 ���� %�	������ ��������
3�����	%�� 2
��
����	�� ��� �&	����� ���� ��	����� �- �	 �����,����� �	��%�����	 �- ��� 	�	���	��� ����
�- ��� ������������� ��
����	� ����
��� 
��	% ��� ����	������ �������&� ���� ����� ���� %��� �������� �
	��
�� �	� � 	
�����
�� ���
��� �	 ��� $+� �- ���	�����		�� 2�3 <#������(�� �	� $�� �"""= �	� ���������
�
��
��	�� <#������(�� �	� K�� 
'''=�

����( �	� ���3������ <�""":
''�= ���� ���� �������� � ����� ����� �	 �����,����� ����	���
���	:
�	 3���� ���& �� 	� �	 �	�����  �����	% ��������: �� : �� � ��
	����� ������ �-  �����	% ��������	�>

�� A

��
�
�

<9 ��=
�
	 ���� <����=

��� ���	�-�� -
	����	 �- ���� �������� ���3� ���� ��� ��%���� 3����	
����� ��	���	�� �	 ��� ��������  ���
��� ��%	� ��	��& ����� ��� ���& �	��
�� � ����,����	 ���� ���� �B�������& ���� �� � ����������� �����	�	��
���& ���� �����	�� �������� ���
��� �	 ���		���2�3 ����
�����	�� ����� ������ �� ���� ����
�����	���&
�,��	���� ���	 ������ ��� �&	���� ����
�����	 �- ��� ���&���������& ���Æ���	�: �� ��� �
�%���������
���������	 �����? ��3����: �� ���
��: ��3����: �� ���	��� �
� ����: ���	% ��� ����	���
���	 �������
����
���� ����: ��� �
�%��������� ���������	 ����� �� ��� �	�& �	� �	 3���� 	�3 �	-�������	 <����: ��������
3�����	%�� ������= �� �	����
���? ��� ������� 
��� ���� �& ���� �	� 7��(�%�� <�""�= �	� ����( �	�
���3������ <�""":
''�= �	�& ����-& ��� �,����	% ������
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���  ����	���	

�

)�� *
����	(������ 0�/�

��� �	����� ����������	� �- $+� 3��� �� ������: �
����	%������ 2�3�> ����%�	��
� �
��
��	��: ��,�	%
��&���: ���	� ���		�� 2�3�� #������ ��� -��� ���� #�� �	� �,������	�� ���� ���	 
��� �,��	�����& ��
�	�����%��� ����� 2�3�: ��� ����������	 �- $+� �� ��
�& ���� ��	 �� �
��� ��>  ���: ��� �����������& �-
��%���
����& #�� ���� ����� ���� ������& �
���� �� ���� ���� -�� �
�%��������� ������	% ������ ����	��&:
$+� ��	 �� ���-����� �� � -������	 �- ��� ���� �- #��? ���������� ��
����: �	 3���� ��	& ����
�����	�
��� ���
����: ��� -������� �& $+�: 	�� �& #��� 9� 
�
��: ��� -����3�	% ���
�� 	�� �� ��	���
�� �� �
�������� �����3 �- ����
�����	� �	 ���� ����: �
� �	�& �� � ����- ��	����� �- ���� ���
�� ����: �	 ���
�
����@� ���3: ��� ������
����& ������	��

!*�*� /��� 
������ -�.�

��� �����	�� �- � ����� ��
	���& �B���� ��� ��&���� �- ��� �
�%��� ������ �	 ������� 3�&�� 7����: ���
%��3�� �- ��� ����� ������ �� �	������� �& ��� �����	�� �- ��� 3���� ����	��&: ��� �,���	%� �����	����
���3��	 ��� �������� �	� 
	�������� ������ ��� �������?  	���&: �	 ��� 	����3��� ��%��	 ��� �
�%��� ������
��& ��	���	 ���� ��%	� ��	� !�&	����������� ����
��	% ���	��: �	� ��� �J� ����� �
�� ����
	� -��
����� 9� ��	���	�� ��-���: �3� ���������� ��� ��������> ��� 3��� ��&�� ��& �� ��������: �� ��������
����� ���������� ���� �
����	�����& ��B���	� ������	% ���
�����	��: �	� ����3 ��B���	� ��%���� �- ������
�	� ���
���& �	 ��� ���
���	�

1	 ���
�����	� �	 3���� ��� 3��� ��&�� �� ��������: ��� ���	���	� ��������� ��-��� 3��� 
�
���&
�	��
��� �& ��������	% ��� ��	%�� ����� �	 ��� ���& ��������& �& ��� �������	 �- �����	% -
	����	� �-
��� ��	 #����� <�"�.= �&��� �
����	���� ���%���� 3�� �������� 3��� ��� �	����
����	 �- ��� �&	����
���&���������& ����� <J����	� �� ��� �""�=: 3���� �	�
��� ��� ������� 	����3��� �������� �- ��� �J�
�������� 3����
� ��� 	��� -�� �� ��� ���
����	�� �� 3��� �����	% -
	����	�� ���� ���
��� �	 ���
��� �J�
����������	 �	 ��� 	����3��� ��%��	 �������� 3��� ��� ���%���	��& �����: �	� ���� ���
���� ���������	
�- ��� �
��
��	�� ��&���� ������
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�
������ "���� � 5(����
���; ��	 < ,C> >>>�  �! ���"���4��
�� ���
� �������� �� ��� �5� 	� ����� ��3��	���

��
���� &	' 
� ��	 < /1 B>>� F	�
� �	���
����� +���	����� '��� ���
����	� ��	
 0�
3�����	 �� ���  ,--1!�

9 ���������	 �- ��� ��	%�� ������ 
��� �	 ��� �&	���� �����: .� A <!I
�
=�	�: �	� �	 ��� ���%���	��&

�����: .� A '��IQ���,�<�#��
�=R �� ���3	 �	 7�%� .��� ��� ��	%�� ����� .� �� ������ ��	 ����� ���%�� ���	
.� �	 ��� 	����3��� ��%��	: ���
���	% �	 � �
�%��������� ����������	 ���� �� �	� �
	���� ����� ���%��� +��	
�- ��� �����	% -
	����	 �	 ��� �,�������	 -�� .� �� ���	%�� �� ����
	� -�� ��� 	����3��� �������� �- ��� ��
�������	��� �& 0������� �� ��� <�"66=: 3���� ��� ��	%�� ����� 
��� �� .� A '��IQ�� �,�<�#�

�
�
��=R�	�:

��� ���%���	��& ����� �����	� ���� ����������� ���	 ��� �&	���� ������

9 ������� �������� �- ��� ���& ��������& �	 ��� 	����3��� ��%��	 �� �������� 3��	 
��	% ���  ������
���
��
���-
	����	 ����� <#
���� �� ��� �"".=� 9����
%� ��� 	����3��� �������� �� �	������� <��� ��������
�- ��� ���& ��������& �	 ���� ���� �� ��� -��� 	��� ��� 3���= ��� ���
��� �����	 ���
����: �� ��	% �� ��� %���
�����
���	 �� �
Æ���	�� ���� ���
�� ���	�� �
� �	 �	�������	% ������,> ��� �J� ������ ���� %��� ��� ����
���
���� ���
��� �	 ��� $+� �- 3������
	��� 2�3� ��� ����� �	 3���� ��� 3������&�� �� ������� �& #���

9� ����
���� �	 ������	 ����
: �������
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������ "��� '��� ��� "��� %	��� ��
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'
��� 
�� �	
��� %	��� �� ��� 
����� 	� ��� ��
����� +���	�����

'��� ���
����	� ��	
 0�
3�����	 �� ���  ,--1!�

�	% ��� 3��� ��&�� ���
���� �,������&  	�
������� 1- � ��	%�� ���
��
��� ���� �� 
���:
���� �����
���	 ���
�����	� ���
��� �	 �	 �,�
��������&  	� �����
���	 �- ��� �
��� 2�3>
��� 
�� �- ���������
��
��� ������ ��& �����
����� ���� �������� G������	�� �� ��� <�"".=

��� (�	�� �������� ������ �	� � 	
����
���� ������ ����� �	 /�����	�� �� ����
��
��� 2�3 �	 � ���	� ���		�� �& #�� �	� $+��
��� 
�� �- ��� /�����	�� ����3� 
�� �- �	 ���
��������& ��%� ����� �- ���
���& -�� ��� ��-�
-���	������	: �	� ���
���� �	����������	 ��
��� �	���-��� ���3��	 ��� (�	��� 9 �&���
��� %��� -�� ��� ���		�� 2�3 ���
�����	� ��
���3	 �	 7�%� .�
� ��� 
�� �- (�	�� %����
����3�� G������	�� �� ��� <�"".= �� ���-���
�	 $+� �- ��� 2�3 �� ��� A �'" )�' 
��	%

" �������� (�	�� ����3�� ���� �� ������� ��� 3��� <��� %��� �����	% 3�� I�� 	 ��': I*� 	 
'= 
��	%
� ����� �- 
 ������	 ���	��� 9 ��	%���(�	� ���� 3��� ��� ���� �����
���	 3�
�� ���� 
	������������ ���
3��� ��&��� ��� ���	 �������& ��� �� 3�� �	 �,�����	� �%�����	� 3��� ��� �,������	��� ���� <7�%� .���=�

G������	�� �� ��� <�"".= 
��� ��� �&	���� ���& ��������& ����� �	 ��� -���
�����	 �������� �& $���&
<�""
=? �� �� �	�������	% �� ������� ��� �������� �- ��� �J� �������� 	��� ��� (�	�� ��
	������ <7�%� .���=�
��	�� �	 ������� ������ ���� �	��%& ������� �	 ��� �
�%��������� �����	�: ��� ���& ��������& �	�������
	��� ��� ��
	���& ���3��	 �  	�� �	� � ������� (�	�� 1	 ���� (�	�: ��������: ��� �J� ������ �� ���&
����� �� ��� ���
� �����	�� -��� � ��	%���(�	� ����
�����	 �	 3���� ��� �����
���	 �- ��� �������� (�	�
�� ��������

�




!*�*� %��� ����� -�.�

/��� 3������
	��� �	� -��������� 2�3� ���� ���	 
��-
� �����	% %��
	�� -�� ������ �	� 	
������� �����
���� 9��	% ��� ������: ��� ��,�	% ��&�� ��� �������� �
�� ����	���	� $+� �- ���������& ��������	%
��,�	% ��&��� ���� ���	 ���-����� �& ;����	 �� ��� <�""��:�""5= �	� ������: �	� ��������& ��������	%
�	�� �& *���� �� ��� <�""6=: �� /�
�	 �� ��� <�"""= �	� $� �� ��� <
'''=� 9 ����	� ����
�����	 �& /������ ��
��� <
'''= ���3� ��3 ��� ��3�� ����
�����	�� ���� �- $+� ��	 �� 
��� �� ����	��%� �� ���-��� ����������
��
���� ���� ��� 	�� -������� �& #���

1	 ���� ����
�����	 ��� �B��� �- ��� �	����� ��	�����	� �	� ��� ��(� �- ��� ����
�����	�� ��, �	 ���
�
��
��	� ���������� �	� ���
��
��� 3��� �,���	�� �	 ������� 9 ������ �- ����
�����	� 3�� �	������(�� 
��	%
�3� ��B���	� �����(����	� �- � ��������& ��������	% �
��
��	� ��
	���& ��&�� 3��� ����� ���������� -���
������� ����	% �	 �������� ��������	�� *���
�����	� �	������(�� 3��� ���	 2�3 ��
� ��	��� ����
��
�����	� 3��� ���������� ����	�� 3��� ���� ��	�
����� 1	 ��� �����: ��� �	����� ���	�����	�� ���%�: -���
��
	���&���&�� �
��
��	�� �� ��	��� 	����: �� ��,�	%���&�� �
��
��	��: 3�� -����3�� �& � ���- �������
������� ��� ���-�������� �������: ��3����: ��B���� ��	��������&> ��� %��3�� �����: �
��
��	�� �	��	������
�	� ��������& ��%	��
��� ���3�� ��B���	��� ��	%�	% ���3��	 �' �	� )'L: �	� 3��� �B����� ���� �&
��� �	����� ��	�����	 �	� �& ��� ����
�����	�� �����	 ��(�� 1	 ��� ���
�����	� ��� �����	�� �- �
��� �3�
����	���	�� ���	3��� ������� �� �����: ��%����� 3��� T�����@ ��%��	� 3��� �
����������3��� ��������� ���
���������	� �- ����� ���
��
���: ��3����: 3�� ��B���	�> �- ����	% ������� 3��� -����� ����& <�� �	 ���
����� �	������(�� �& ��	��� 	����=: � 3������%�	�(�� ������	 ��������� ����
%��
� ��� ���-�������� ������
<7�%� .�)=� ��� �����	�� �- ��
	���&���&�� �
��
��	��: �	 ��� ����� ��	�: �	������� ��� %��3�� �- ���
�	������ �	��������&: �	� ����&�� ��� -�������	 �- ��� ������������ ������	�� 1	������	% ��� �����	 ��(�
���� ��	��� �� ���� ��� 2�3 ���� ����������	���	���

)�
 ���	�����	�� �	� ������	���!�	( 0�/�

��	& 2�3� �	��
�� ��%��	� �- ���	�����	 �� ������	���(����	� �
�%��������� ������: 
�
���& ����� �	
��%� !�&	���� 	
���� �&	�����: �-��	 ���� ��Æ�
��& �	 ����� ��%��	�� ��� ���& ��������& ��������� �&
��� ���%���	��& ����� �� ��� ���
��
���-
	����	 �����: -�� �	���	��: �� 	�	�(��� �	 ����	�� 2�3�? ���
����������	 �	����
��� �& ��� ����� �
��	% ���	�����	 �� 
	��&�����: �	� ��� ��� �B��� �- �����	% ���
%��3�� �- ��� ����� ����
������	�� �� -���� ��� �J� �������� �� (��� �	 ����	�� 2�3�: �	��������	�&
-������ �� ��3�!�&	�����	
���� ���������	� ���� ���	 
��� <0������� �� ��� �""'=� 1	 ��� �&	���� ���&�
��������& �����: ��3����: ��� ���Æ���	� ��	����� �	 ����	�� 2�3: 3���� +�� �� ���	������& (���? ���� ���
���
�	 ������ ���������	 �- ���	�����	 3����
� �� �
� ���
����	���

9	 �������	�� ��Æ�
��& �	 ���	�����	�� 2�3� �� ����: �
��	% ��� 	�	��	��� �	��������	 ���%�� �- ���
�������3	: ���& ����� ���
��
��� <���	 ����� ��&���: -�� �	���	��= ��� %�	������: ���� �
�� �� ��������
���	 �	 �	 $+�� 7�%
�� .�� ���3� ��� �������� �������� ����� 	
�	# �	 �	 �#����	� �
��	% �
������	��
���	�����	 �	 � 2�������� ��
	���& ��&��� �	� ��	 ������� ��� ���������	� �- � ����� ��&�� <�� � 	 .)'
�	 7�%� .���= ���� �� ��-��� -��� ��� 3��� �	� �������� ��� ��	�� �������������� �- ��� �
������������ ���%���
��� ���& ��������& <7�%� .�.= �� ����	�����& (��� �	 ��� ����	�� ��%��	: ��%�	� �� ���� �� � 	 5'': �	�
������� ��%	� ��	� 3���� ��� �����
���	 �� ���%�	��� /��3��	 ��� ����� ��&���: ��� ���& ��������& ��
�����: 3������ ����� ����� ��	 �� �������� 3���� ��� ����� ��&��� ��� ����	%�� �	� ����� ������ ���
���	% %�	������� 4��� �
�� ������� �����
���	 ���	 �	 #�� ���� ��� ���������	� �- ��� ���	�����	��
���
��
��� �	� ��� ����������� �
�	������ ��
�� �� ����������

���
����	� �	 3���� ��� ����
������	� ����& �����	% �� � ����	�� �� �
��������	�� �����: ���� ���
� �	
�	%�	����	% ����������	�? �	 �
��
��	� ���		�� 2�3: -�� �,�����: �&���� �������	 ���� �� �������(� ��� 2�3
	��� �	� 3���: ����������(� �� 	��� ��� ������ 0������� E $�
 <�""�= ������� � ������(�� �&	���� ����� ��
��� ��
�& �- ������	% ���		�� 2�3: �	� -�
	� ���� ��� 
�� �- � ���Æ���	� ���� 3�� ����3�� �� ���& �	 ���
����� ��������	�: �� 3��� �� �	 ����: %���� ������ ���������	 �- ��� �
��
��	� 2
��
����	� ���	 ��� ���	��
�����%�� �����: ���������& �	 ��� ������ ���� �- ��� ���		�� 3���� ��� �
��
��	� �������& �� ��	��	������
�	 ��� ��3	�3��� ��%��	 �- ��� ��	%��
��	�� ���� ����� ���� ��� -����� �	 ���� 2�3� $��������� �� ��� <�""6=
���� ���-����� #�� �	� $+� �- ������	% ���		�� 2�3 
��	% ��� ����������&	���� ������ ���& �,������
� ��	%� �- �������	 	
����� �:� A 
OÆ� � <3����  � �� ��� �����%� �������& �	 ��� ���		��: Æ ���
���		�� ���-����%�� �	� O ��� �������	 ����= ���3��	 ' �	� ��� <�������� 3��� ��� ��	%� ' � �:� � '�
�
�,���	�� �& 0������� E $�
 �""�=� ���& �����	�� ���
��� �	 -����& %��� �%�����	� 3��� #�� ���� �	�
3��� ������
� $+� ����
�����	��
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 A <���
=
�	� <3���� �� �� ��� 3��� ������ �	� 
 ��� 2
�� ��	���&= �� ���3	

-�� �����
� ������	%����		�� ����� �	 7�%� .�5� ��� �������� $+� �- 0������� E $�
 <�""�= ��� �	 %���
�%�����	� 3��� #�� ���� <G�����B����	 E 9	������	 �""�: $��������� �� ��� �""6=: �	� 3��� ��� �,�����
��	��� ���� �	 ��� 
	������ ���� �- ��� ���		��� �	 ��� ������ ���� ��� ��� 	
������� ����
�����	� �������
��%	� ��	��& ��%��� -������	 �������& ���	 ��� �,������	��: �	 3���� -
�� ������	���(����	 3�� ���������
���� ��& �� �
� �� �����
�� �����
�� %�����	�� ���� 3��� �����	� �	 ��� �,������	� �
� �� ��� �����
����	���	� �- ��� �������
�: 3���� ��& ���� �	������� ��� ��	��	�& �- ��� 2�3 �� ������	���(�� ���
�������� $+� <0������� E $�
 �""�: $��������� �� ��� �""6= = ���: ��3����: �	 %��� �%�����	� 3��� #��
���� <G�����B����	 E 9	������	 �""�: $��������� �� ��� �""6= �	 ���� ����� ��� $+� �- $��������� ��
��� <�""6= 
	������������ ��� 3��� ����� �	 ���� ����� �- ��� ���		��: �
� ���3� ���	�� �	 %��� �%����
��	� 3��� ��� #�� ���
���� 9� ��� ��%���� �������	 ���� <�:� A ���: 	�� �	��
��� �	 ���  %
��= ���	
��� 
	������ ���� �,������ � ��%	� ��	� �������� �	 

 : ��������� �& ���� $+� �	� #��� $��������� ��
��� <�""6= ������
��� ���� �� � ����	% ��	��	�& �- ��� �������� ���
��
��� �� �� �������	��� �	 ��� �������
3��� ��������	 �	 ��� 
	������ ���� �- ��� ���		�� <7�%� .�6=� ����� ���	%���� �������� �	 ��� ������ ����
��
�� �������	�� �����	� �	 ��� #*����	� ���� ���
�� �	 � �������� �	 ��� ������3��� ��� 2
��
����	�
<7�%� .�"=: � ��������	��	% �	������ �	 ��� ����� �3� �����	�	��: �	� �	 �	������	 �- ��� 2�3 �	�������&�

9 �
��
��	� 2�3 ��& ������ �� � ����	�� �	� 3��	 � ��
	���& ��&�� �� �
������� �� � ����	% ��������
����	 <� -�������� �����
�� %�����	�=: � ���
����	 ���� ���
�� �	 ��	& ����	���%���� ����������	� <���-����:
�
���: ����=� ���� �&�� �- 2�3  ���� �� 	�� �� 3��� 
	�������� �� ��� ��	�	���� (���������
���%�����	�
��
	���& ��&��: �
� �� ��� �
�� 3���� ��������� �����: �	� �� ��� ��Æ�
��& �	 �������	�	% 
	�������
�����	% ��3� ������� �� ����� -�� ��� (���������
���%�����	� ����� 9 ���%� �����	��%� �- ��� �	�����%����	�
�- ����������	% 2�3� �� ���� ���� ��	��	������ �	 ���-�������� �����: �	 3���� �
�� �����	% ��3� <-�� �	�
���	��: ��� ��%�������� ��3= ��
�� �� -�
	�� 0������� �� ��� <
'''= 3��� ���  ��� �� ���-��� ���%�����&
���
�����	� �- ��������& �
��
��	� ��
	���& ��&��� �	 ����	% -�������� �����
�� %�����	��� ��� 
�� �- $+�
���� �������� ��� ����
�����	 �- ��� 2�3 �	 � ��	% �����	: �� ����3 ��� ��
�& �- ��� ��%��	 �	 3���� ���
2�3 �,�����	��� � ����
������	 �
� �� ��� ���	�2�3 �����������	: �	� ��� ���
�	 �� ��
������
� �-��� ���
�����
�� %�����	� 3�� �������� 9 #�� �- ����� ��	 %
�����	 3�
�� ���� ���	 ������������& �,��	�����

�3� ����� 3��� �,���	��: �	� �	 3���� ��� �����������	 �� �	�
Æ���	� �� ��
�� ��������	 �� ����	��
����� �- ��� �	������& �
��
��	� 2�3 <7�%� .��'�=: �	� �	� �	 3���� ��� �����������	 �� ����	%��: �� ����
������	���(����	 ��%�	� �� ���� �����? ��� �����
�� %�����	� 3�� 	�� ���	���	�� ��	% �	�
%� -�� -
��
��������	 �� ���
�� ��� ���	 �������& ��� �� �������� ��%	� ��	��& -��� ��� ��%�������� ��3��-�����
3���: �	� ���3��: �	 ��� ����	%�& ����������� ����: � ��	��	�& �� �������� ��� ����	�� ��� ��: �	� ���
�
��
��	� ��	���� �	��%& �	������� ���� ������& ���	 ��� �	��%& �- ��� ���	 2�3� ���� �� ��2����� �	
� ��%	� ��	� �	������ �- ��� ����� -����� ' A Æ��; <3���� Æ� �	� ; ��� �����������& ��� ����������	�

�.
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�	� ����	�
� �����	����� �- ��� ��
	���& ��&��=: ���3	 �	 7�%� .��'�� ��� ���	 -������	 ���Æ���	�
!� A ���
 

�
�
: ���3	 �	 7�%� .��'�: ��������� ��%	� ��	��& �
��	% ��� �����������	�

��� ���
��
�� �- ��� �		�� ��&�� �� ���� ��%	� ��	��& �������� 1	 ��� 	����3��� ��%��	: ��� �������
������ ���� ���	%����: �	� ���3 -�3�� 
	�
�����	�: �
� �� � ��%	� ��	� �������� �- ��� ���	3��� 2
��
�
����	� �������� �� ��� ������3��� �	��� ��� ������	� ������ ���� ������ -�3��: ���� ���	%����: �	�
���%	�� �	 ��� ������3��� ��������	: �	� -�3�� �������	� ��� ��������� 1	 7�%� .���: �����
�-���� �- �
<�� 	�� �	 *������ )= ��� ���3	� 1	 ��� (���������
���%�����	� ��%��	: ��� �����
�-���� �- � ��%���%�� ���
�
����������3��� �������� �	�3	 �� ���
���� ��� 3��� ��%��	 �- ��
������
� ��
	���&���&��� <!���	��	
�""��:�""��=� 1	 ��� ����������������	 ����: ��� ���
��
�� �	 ��� -��������������
���%�����	� ��%��	 ��
	�� ��%	� ��	��& ��B���	�: �����
%� -�3�� ���
��
��� ��	 �� ��������� 1	 ��� ����	%������������	 ����: �	
��� ����� ��	�: ��	��������& -�3�� ������	� ������ ��� -�
	�� 7
���������: �	 ��� (���������
���%�����	�
��%��	 ��� ������ -��� �	 �	%�� �� ��� 3���: �	� �-��	 �,��	� -�� ������� �
	���� 3��� 
	��� �	�� ��� �
���
��&��: 3���� �	 ��� -��������������
���%�����	� ��%��	 <�	 ��� ����	% �����������	 ����= ���& ������ ���
��	�����& ���%	�� �	 ��� ������3��� ��������	: �	� �
�� ���� ���	%����� ����� ��������& �� �����,������&
��� ���� �� �	 ��� (���������
���%�����	� ��%��	: ������� ��� �����	�� �- �	 �������	�� �����,���������	%
�����	���� ���� ��& �� �
� �� �	������� ����������	 �- ��� ���		��: ���� �	��	�� �������� �
� �� ����
�������	�� ��������&�%�	�����	% �����

������ �	� 0������� <
''�= ���-����� $+� �	� #�� �- �
�����	% ���		�� 2�3� 1	����	� 
	������	���
�- ��� �����	% ��	�����	� ����������(�� ��	& �
��
��	� 2�3�: ���� 	��
��� <��
� ��� %�����& 3��� �	�
���
�	 ����	������� ��
	���& ��&���: ��� ����� 2�3 �	 ���%� ��������: ��� 2�3 �- ��� �	 �
	%�= �	� ���� ����
<�
�� �� ��� 2�3 �	 ��� �	���� �- � ����
����	 �	%�	� �� ��� 2�3 �	 ������	 ���� �,���	%���=� �� ��
�&
��� �����	�� �- �
��
��	�� �� �	 ���������	% ���	 2�3: � ���	�����		�� 2�3 �����	 �& �	 ���������	%
�����
�� %�����	� 3�� ��
����� ��� ��&����� ��	 %
�����	 �� ���
������� �	 7�%� .��
> ��� 2�3 ���3��	
�3� 2�� ������ ���� �,��	� �� �� �	 ��� ������3��� <�= �	� ���	3��� <#= ��������	� �� ���
������ ��
����� ���� �������� 2�3: � �����
�� %�����	� ��� 
	�� ��	%�� �� �	����
��� �	 ��� ��%�����	������ �- ���
������������� ��
����	� �� � ��
��� ����� 1	 ��� ���� 
	��� �	�����%����	: ���� �����
�� %�����	� �� %���	
�& � � �'�� H & ��	&�: 3���� & �� ��� �	%
��� -���
�	�& �- ��� ����������	� ��� 2�3 ������ � ����	��
���
���	: 3���� �� � ������� �,��	���	 �- ��� ������ �������� ��� 2�3  ��� ����������� <�� �� �� �
�������
�� ��� ������� �����
�� %�����	� �
��	% ���  ��� ���- �- ��� �&���=: ���	 ����������� �%��	� #
��	% ���
�����������	 �����: �� �������� ��-���: ��� 2�3 ��	�� �� ������	���(�: 3������ ��� �������������
���
%�����	� ��� ��� �������� �B���: �	� ����� ��� 2�3 ���� �
��
��	��

��	�� ��� ���� �- ��� 2�3: 3���� ��� �������& �� ���%�: �� ����	���� �& ��	������� �B����: 3���� ���
��%��	� 	��� ��� ����� ��
	���&: 3���� ��� �������& %�����	�� ��� ��%	� ��	�: ��� ����	���� �& ��B
����
�B����: ����� �� � ��������& �	 ����������� ���3��	 ����� �3� ��%��	�> ��� ��B
���� ���������� ���	% �������
���	 ��� ��	������� �	� �& ������ �- ��%	��
��� ��
�: �� ��� -���
�	�& �� ���	%��: �	� 3�
�� �,���� �
��%	� ��	��& ��B���	� ��
���	% ���3��	 ��� 	����3��� ��%��	 <��� �		�� ��&��= �	� ��� ���� �- ��� 2�3 <���
�
��� ��&��=� �� ��
�& ���� ��
���	%: ����
�����	� 3��� ������� �
� -�� � ��	%� �- -���
�	����� 9����
%�
��� %������& �� ������ ������: �	� ��� %���� 
��� ���������& ������: ���� ����
�����	 ����� ���
���� � ���%�
���
	� �- *08 ����: �
� �� ��� ��	% �	��%�����	 ���� 	�������& �� ������� ��	���%�	��� ��	�� ������
�����%�� ���� �� ���
����: ���3��	 ��%�� �	� ��	 �&���� �- ��� ����������	 ��� 	����� �� �����	 ��	���%��
����������� �������� 1- ��� -���
�	�& �� ��3: ��� ��
����	� �- �����	 �
�� �� �	��%����� -�� ���& ��	%
�	��%�����	� ��� !�&	���� 	
���� ����� �	 ���		�� ���%�� �	� ��� ����������%�� ��	�����	� �������& 3��
5�'' -�� ��� ����
�����	�� ���
�����	� 3��� ������� �
� -�� ������� ���
�� �- ��� -���
�	�& �- ��� �����	%
�����
���%�����	�: ���
���	% �	 � !�&	���� 	
����: ����� �	 ��� �����	��� �- ��� ����	�� ���������	% ��&��:
Æ A <
��&=�	� �	� ��� ���������	% �����	�	� �- ��� �������&: ��	%�	% ���3��	 ��Æ A �'' �	� �'''�

��� ��	�����	� �������&: ���3	 �	 7�%� .���: ��%� ����	� ��� ������ �� ��� 3���? ��� ����� ��B���	�� ��
��) �� ��%� -���
�	����: �	� ����� �� (��� �� ��3 -���
�	����: 3���� ��� 2�3 �� ����	�����& �	 ��
������
��
��� %��� �%�����	� ���3��	 #�� �	� $+� �� ��� ��%� -���
�	�& ��	 ���� �� �������� �	 ����  %
��� 9�
��%� -���
�	���� ��� �����	�� �- ��� �&���� �� ����	�����& �� ��� �����	% -���
�	�&: ������� ��� 	�	���	���
��������� �- ��� ��
����	�� 9� ��� -���
�	�& �� ��3����: ��3����: ��%��� �����	��� ��� �,������

#�B���	� ��������� �- ��� 	����3��� ��%��	 �� ��� -���
�	�& �� ��������� ��� �����	� �	 7�%� .��):
�	 3���� ��	��
�� �- ��� �
��
��	� ��	���� �	��%& ��� ���3	� 9� ��� ��%���� -���
�	�& ��� �		�� �	�
�
��� ��&��� ������ ���%��& ����
����� 9 ������	�	% �- ��� �		�� ��&�� ��	 �� �������� �� ��� �	� �- ���
�����������	 ����� <��� 	 �=: 3����: ��3����: ���� 	�� �����%��� -�� �	�� ��� �
��� ��&��> �& *�' 	 '�

��� ��	��
�� ��� 	����& 
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	����
��� ���%���	��& ������

���� ����
�����	 ��%���%���� �	 �������	� 	
������� ���
�: ���� �- ��� �B��� �- 	
������� ����������	
�	 ��� �������� ������ �	� �	 ��� �
�%��������� ������ ������ E ���	 <�""5= ���-����� ����
�����	�
�- ��� ���� 2�3: 
��	% � ����	������� ��	���� ������ �	����� �- ���  -�������� 
�3�	�������� ������
�����&�� �& /��
��	 E ���	 <�"")=� ���& -�
	� ���� ��� 	
������� ����������	 �
� �� ��� 
�3�	�
������ �B����� ���& ��%	� ��	��& ��� ������� <7�%� .�
�=� ���� ��� �&��	���: ��� ���	 �������& �	�
!�&	���� �������� 3��� �	 �	�& ���%���& ������ �%�����	� 3��� ��� �,������	��: ����
����& ����
�� ���&
��� �����& �
� �� ���%� ������ ��	���	�� �	 � ����� ��	� �- -���
�	���� ���� 3�� 3��� �������� ���	 3��	
��� 
�3�	� ������ 3�� 
���� 1	 ��� -���3���: �	 ��� ����� ��	�: ��� 	�	������������ ��	���� ������:
�	� ��� /�����	� ���������
��
��� �������� ������� �	 ��� ���� %������& �& G������	�� <�""6= �	�
G������	�� E ���	 <
'''= %��� ���� ���
���� ���
����

����� ��������� 2�3� ���� ���� ���	 ����
��� �& $+� �	��
�� ��� ����3����-���	% ���� <9��������
E ���	 �""�: #����&�� E $����
� �""5: �� 3��� �� ������=: �	� ��� ���,��� ���: � ��	 %
�����	 -���
�	��&

��� �� � ����
���� <9�������� E ���	 �"".: 0����� E ���	 �""6= �	� �	 ��&������� ���	� ��B
���
<G����	���� �� ��� <�"""=� ���� 2�3 �� ������
����& ��Æ�
�� �� ���
���� ����
�� �- ��� ��������& �- ������>
�
� �� ��� �,��	���	: ��� ���	 �������& �	� ��� !�&	���� 	
���� �	 ��� �
���� ��%��	 ��� )�5 �����
��3�� ���	 �	 ��� �	���: �	� ��� �	������ ���� ����� �� )�5� 	 

 ����� ���%��� 7
���������: �	 �������
�����
�� %�����	� �,���� ���� ����� �� �	 
	�����& ���������	� ���� ���
�����	 ��%���%��� ��� �B��� �-
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	� ����: 3��	 -
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��������� ���		�� 2�3 3�� 
��� �� �
���& ��� �	2�3 ����: ��� ���������	 ���	� 3�� ��������� �	��������&:
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4��	 �	 �	��� �������& ��� �� ���� ���� ������& ������� ��� ����
��� �	� 3�� ����%	��: ��3����: �
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�������� ���
��� 3��� �����	��� ���� 	
������� �,������	� ���	��� �
� ���& ����	%�& ����: �	 �����
�� ������� ���	�	%-
��& �,������	�� �	� ���
�����	�: ��� ��
	���& ��	�����	� �
�� �� ������� ���&
����-
��&� #�������	���� ���3��	 ��� ����
�����	�� �	� �,������	��� ���
��� ���
�� 	�� �� ������
���
��� ������& �� 	
������� �� ������	% ������ 3����
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�� ���� �	 ���� ���� 3��� ��	�������& ��� �	��	��� �B��� �	 ��� 	��� -
�
��� 1	 ������������ 2�3�: �� ��
��	��	��	� �� 
�� 7����� �����	% <7���� �".��:�".��= �� ����� ��� �	����
����	 �- �
�%��������� ����� �	
��� ��
����	 �- ��	��������	 �- ����� 9 7����� ������ �������� �� �� 	�� ��>
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���� ���� �� ��� 7����� ������ �����	����� ��	���: � �� ��� �����
��� ��������&: �	� �� ��� �
�� ��������&?�� A �< �� = �	� ��� A ��< �� = ��� ����� ���
�� �� ���  ������ ��������
�� �� �
�3� 
	������ ����� ������ �	 <5��=> ���� ,: ��� �����%�	�� �- ��� �J� �������� ��� A 
<�
�
� � �
��
�=:

�	� ���� ,,: 3���� �� �
� �� ��� 	�	��	�����& �- ��� �����
� ��������� 4���� ��� -����� �� �������: ���
������ �� �	�������& 	�%������ <����: �� �� ���
��� ���� "�� � �"�� A '=� ��� ����� �- ��� �J� �������� �	
������������ 2�3� ��		�� �� �	��
��� �	 ��� ���� �� �����
��: �	� ���
���� �������� ������	%: �����
%�
�� �� -���
�	��& 	�%������ <S�	% �� ��� �""
=�

1	 �������	 �� ��� ����	�
� �	� ���� ��	��������	 ��
����	�: �	 �	��%& ��
����	 �� ���
����� �������
�����	� ��� ���������> �	� ��	 ����� ��� �	���	�� �	��%&: ��� �	�����& �� ��� ����� �	��%& ��
����	� +���
�- ����� ������� ���
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������& �����	�� 
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�����
���
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�
���& 	�%������: �� 3�� ��� �	���%�
� ���� �	 ��� ����	�
� ��
����	� ���� � �� ��� �J�
�����
������������	: �	� ���� �, �� ��� �J� ��	����
���	 �� ��� �����
� ����������	� 1	 ���� ����������	�
<���	 �� ��� �""�: +��D��& �� ��� �"")= ��� �
�%��������� �����2
, �� 3�� �������: 3���� ����� � �	�
�, 3��� 	�%������ <�� 3��� �� ��� ��B
���	 	�	��	�������� ,�=� ;����	 �� ��� <�""��= ���-����� � 	��
��
����� 
��	% #�� ���� �����	�� -��� ��� ����
�����	 �- � ��,�	% ��&�� �� ���� 	
����� �	 ��� ��	%�
'�
W'�.: �	� ��	��
��� ���� 	�%�����	% ��� 	�	��	�������� �- ��� ��B
���	 ����� �	 ��� ����	�
� �	�
�	��%& ��
����	� <����� ,, �	� ,�= �� ����������? ���& -�
	�: ��3����: ���� ��� �J� �����
������������	
�	� �J� �����
� ����������	 ��� �- ��� ���� ����� �� ��� �����%�	�� �- ��� �J� ���� 2
,: �� : �	� ����
������	% ���� �, �������� ��� ���
���: ���������& �� �������� �� ��%� ���� 	
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�� ������� �� ��� �
��
��	�� ��B
���	 ���� ������� �	 ��� �
�%��������� ��	���� �	��%& ��
����	� G	�%��
�� ��� <�""6= �������� ���� �� 	 ����
�� ��� ����� �3� 
	������ ����� �	 <5���= �� 	�� ���
��� ��������
������	%: ��	�� ���& �	��
�� ��� ������&�������� �J� �������� �	� ���� 2
,� ���� ,� �� 
�
���& 	�%������:
���� - ��	 �� �,������� �	 ����� �- ��� �J� ���� 2
, �� 
��	% <5���=? ���� -, �� �	���%�
� �� ��� �J�
�����
� ����������	 �, �	 ��� �	���	�� �	��%& �� �	�����& ��
����	�: �	� �� �������& 	�� 	�%��%�����

;����	 �� ��� <�""��= ������� �	 ��
����	 -�� � ���� �� ����� �	��%&: ��� ����� �	��%& �- ���  ������

 ���: �
/ A 
<�% H �
��
��
=� 1	 ���� ���	����� ��
����	 ��� �����
������������	 ���� �: ��� �J� �����
�
����������	 �,: �	� � ���� �- ��� -��� �
�<	����	��= ���
��� ������	%�

1	 �
����&: �	 ������������ 2�3� ��� -����3�	% ����� ��� 
	������>

�� �J� �������� ��� <-��� ,=? �����
� ������ ���� ���	 ��������: ����� �	 �	������������ ������
�
�� �� ���&���������& <K����(�3� �"6.=: ��,�� <���(���� �� ��� �"66=: �&	���� <���	 �� ��� �""�:
+��D��& �� ��� �"")=: �	� ���
��
�� -
	����	 <�����	� E $����
� �""
= ������� ��� 	��� ��
������� ��� 	����� �������� �	������� ��� ����� ������,��& <�	 �������	�� ����� ���Æ���	� ��& ��
���
����=�


� �J� ���� 2
, �� <-��� ,,,: �,, �� ,-=? �� ��	 �� �����	�� -��� ��� �J� ������ ���� �& 
��	% ������ �
��	���	� �� � �&	�������&����
���� �
��
��	� 0��	��� 	
���� <���	 �� ��� �""�= �� � ��,�� �����
<���(���� �� ��� �"66=�

�� 0����
�� ���������	: � <��� �������&������
�� %�����	� ���� ��	 �� ���
��� �� ��� �����
�� ���������	:
�	� ��� �����
�� ��B
���	 ��	 �� ������� �������& �	 ����� �- ��=� ;����	 �� ��� <�""��= ��������
� ������������� ����� -�� ���� �����

)� ;����
� ����������	 <���� �,= �� �����
� 3��� �- <���� -,=: ����	��	% �	 ��� ��
����	 �����	�
;����	 �� ��� <�""��= �������� � ������������� ����� -�� ���� ���� �� 3����

�� �
��
��	� ��B
���	 �� �	 <5��)=� ���� ������� �	�& �- ��� ����� �	��%& ��
����	 �� 
����

.� ����� �����	% -��� ��� 	�	��	�����& �- ��� ��B
���� 2
,�� <,, �	� �=� 1� �� �������& ��-� �� 	�%����
���� �� ��3 �� �������� ��������
����

1- ��� ��B
���� 	�	��	�������� ��� 	�%������: ����	��	% �	 ��� ��� �- ��
����	� �����	: -�
� �- ���
����� ����� �
�� �� �������> ������ -�� ��� �J� �������� �	� ���� 2
, ��� ��3�&� ���
����: �� 3���
�� � ����� -�� �	� �- ��� �����
� ������ ��� �	���	�� �	��%&: �	�����& �	� ���� �� �	��%& ��
����	�
���
��� ������	% �- ��� �����
�� ���������	: 3���� ��� ����� �	��%& ���
���� ������	% �- ��� �����%�	�� �-
��� �
��
��	� ��B
���	 �� � 1� �� 	�� �	�3	 3������ ����� ��� ����	��%�� �� ������ ���������

4���� ;����	 �� ��� <�""��= -�
	� ���� �- ����� ����� �� �� �������	� �	 � ��,�	% ��&��: � ���������	
�- ��� 
	������ ����� �	 ��� �	��%& ��
����	 �� ���3	 �	 7�%� 5�� -�� � �
6� ���
�����	 �- ����%�	��
�
��������� ����& 3��� �
��
��	� ���� 	
���� 3� A '��
: !�&	���� 	
���� <����� �	 ��� ��&��� ������
����� @= ��! A �)��: �	� �  ���� 3���� I�I A ) <����FX	 �� ��� 
'''=� ��� �����
�����B
���	 ����:
3���� ���� 	�� ���
��� �������� ������	% �
� ��	 �� �,������� �	 ����� �- �� �� ��%	� ��	�: 3���� ���
�����
������������	 ���� �� 	�%��%����� ��� �����
� ����� ��� ���� 	�%��%����: 3���� ��� �
��
��	� ��B
���	
�� ��%	� ��	��

�
�%��������� ������ ������	% -�� ������������ 2�3� �� �� � �
�� ���� ����	��� ���%� ���	 -�� �	����
��������� �	��: �����& �
� �� ��� ���� �- �
������ ��������� -�� � 	��
�� ������ *�������	��	%�&: ����� ���
-�3 ������	� ����
�����	� �- �
����	%������ 2�3�: �	� ���& -�3 � 	
�����
�� ����
����	� �- �J� �������
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0������ ��� ���� 
�%�	� ������	%� ���� 	���� �� �� ���: �	 ����� �� ����& $+� �� ����	���%�����&
������	� 2�3�: �� ��� ������	% �- ��� 3��� ��&��� ��� �����	�� �- � ����� ��
	���& �B���� ��� ��&���� �-
��� �
�%��� ������ �	 ������� 3�&�� 7����: ��� %��3�� �- ��� ����� ������ �� �	������� �& ��� �����	�� �- ���
3���� ����	��&: ��� �,���	%� �����	���� ���3��	 ��� �������� �	� 
	�������� ������ ��� �������? �	 ���
	����3��� ��%��	 ��� �
�%��� ������ ��& ��	���	 ���� ��%	� ��	� !�&	����������� ����
��	% ���	��: �	�
��� �J� ����� �
�� ����
	� -�� ����� 7�	���&: ��� ��	%�� ����� �- ��� �	��%&�����&�	% ���%� ���
��
��� ��
!�&	�����	
���� ����	��	� 	��� ��� 3���� 1- ��� 3��� ��&�� �� ��������: ��� �������	� �	��%&�����
��	%
���	�� �
�� �� ����
���? ��	�� ����� ����	���	� ����� 3��� ��� !�&	���� 	
����: �� 3��� ��� ���� �-
�	 $+� ����
�����	� 1� 3�� ��	���	�� ������
��& ���� *�����	 <�"5"= ��������� ���� ��� �����
���	
���
���� -�� ��� �
��� ��&�� �- � ��
	���& ��&�� �� ���������	�� �� �����: 3���� -�� ��� 3��� ��&�� <3����:
�	 ����	�
����� ����������	�: �	�& ����
	�� -�� �����,������& �L �- ��� ��
	���& ��&�� �����	���= ���
	
���� �- ���	�� 	����� �	������� �� ����� ���� ����	� ���� ���
�����	� ����� ����������	 �- $+� �� ��%�
<����� �- �'� � �'�= 2�3� ����������& �����������

9����	������&: �����,����� ��
	���& ��	�����	�: �� 3��� ������: ��& �� 
���� 4��	 ��� %��� �� 	��
 	� �	�
%� �� ������� ��� 	����3��� ������: ��� 3��� ��&�� �
�� �� ������� �& �����-&�	% � ����������	
���3��	 ��� �������& �	 ��� �
��� 2�3 �	� ��� ������ �� ��� 3���� ���� �������� ����3� ���  ��� %���
���	� �� �� ������� �	 ��� ��%�������� ��&��: �	�: ��	�� ��� �	��%&�����
��	% �������� ���
��
��� �	 ���
�����
� �	� �
B�� ��%��	� �� 	�� ���� �� �� ��������: �� ������� ��� 
�� �- ������� ������ �	 ��� �����
��������	� �� 3���> I�� 	 �''� .'': I*� 	 �''� �''� ��� ������	% �- ��� 3������&�� ��&����: ��3����:
�	����
��� -
����� ���������� �	 ��� ����
�����	�� ��� ����� ���
�����	 ����	� ���� �������� �� ���� ���
�	��������	 ���3��	 ��� �������: 	����3��� ��%��	: �	� ��� ��������: �
��� ��%��	: �� 3���� ���� �
�����
-�� ���� ���
�����	 ��	 �� �����	��: -�� �	���	��: -��� � ����	� ����� �- /����� E D�	����& <�""�=: �	
3���� ��� 3�& ��� 	����3��� �������� ��� ���	 �� �	�����%���� 
����(�	% #�� ��������� -��� � �
��
��	�
���		�� 2�3� ���& -�
	� ���� ��� 2�3 ���
��
��� �	 ��� �����
� 3��� ��%��	: 3���� ��� �����	����� -��
���� �- ��� ����� ������ ����
����	: ��%�	����� ����������? 	� �	��������	 3��� ��� �
��� ��&�� ���
��
���
3�� ���������

1	 %�	���� �����: 3��� ������ ��� ����� �	 � (�	�� �������� �	 3���� ��� �		�� �	� �
��� ��&��
��� ������� 
��	% ��B���	� ���� �- ��
����	�: �	� ��B���	� ������	% ������%���� 1	 ��� �
��� ��&��: ���
 ������ ������������� ��
����	� ��� 
���� 1	 ��� �		�� ��&��: �����
� �����	������ ��� ��������� 1- �	�
���
��� ���� �	�& ��� !�&	���� ����� ������ �� ��%	� ��	�: �	� ���� 0��	���@� ��,�	%���	%�� �&��������
�����: ��� �		�����&�� ��
����	� ��	 �� �	��%����� �	��&������&: &�����	% ��� ��%�������� ��3��-�����3���
<#������B �"5': ���
��		 �"5�: 0������� �� ��� �"6"=� 4��� ���� ��������: ��� ������ �� ��� 3��� ��	 ��
����
��� �	 ����� �- ��� �������& �� ���  ��� �		�� ���	�: -�� �,����� �& �����	% ��� ��%�������� ��3 -��


 � ���� �������� ���
��� ���� ��� �&	����� �- ��� 3��� ��&�� ��� 
	�������: �	� ���� ���� %�	�����(��
��3��-�����3��� ��	 �� ��������

9	����� �����	: 3���� 3��  ��� �������� �& /������ �	� ��3������ </������ E /�	���� �""): /������
�� ��� �"".= ��	����� �	 �����	% ��� ��
	���&���&�� ��
����	� �	 ��� �		�� ��&�� 3��� ���� �
��
��	��
������ ���� �������� �� ����� �	 ��� ��	���������	 ����: �� ��� !�&	���� 	
���� �	�������: � ��%	� ��	�
��������& �- ��	%�� �	� ����������� �������� ���3��	 ��� 	����3��� ��%��	 �	� ��� �
��� 2�3� 1- ���
%�������� ����	���	� ��� ���%� �������� �� ��� �&����� ���& ��(� �	 ��� 	����3��� ��&��: ��� ���� �������
�� ��� 3��� 3��� ��	���	 � ���& ���%� 	
���� �- �
�� ������ <7�%� 5�
=: ���%� �	�
%� �� �� ��	�������
� ������������& ��%	� ��	� ������� 7
���������: ��	�� ����� ������ ��� ����� �������� �� ��� %��� ��(�:
����� ��-���&��� �� ����� �������� �� ��� ���������� ��
�: ���  ������ �������& �� 	�� �B����� �������&
�& ���� �- ����� ������: �
� �	�& �& ����� �����	�� �B���: �	� �� �� 	�� 	�������& �� ������� ���������&
���� !�&	����������������
��	% ���	� ���� ����� ����� �	 ��� 3������&��: �
� �	�& �� ����
	� -�� ����
�	 � ����������� ��	��: ����
%� � !9������� ������ 1	 ��� �
��� 2�3: ���	: ���  ������ �������������
��
����	� ��� ������ 
��	% �� ��� 3������
	���& ��	�����	 ��� 3��� ������ �
������ �& ��� �		�����&��
����
�����	� 1	 ��� �		�� ��&�� <����: -��� ���  ��� %��� ���	�: �� ��� 3���=: ��� ��
	���&���&�� ��
����	�
-�� ��� ���	 <����: �����%�� ���� ��� ����: �	 ��� ���	� �������� �� ��� ����� ��
	���&= �������& ��� �������
��� �������& ��� �� �����	�� �	 ���� ��		�� &����� ��� ����������%�� �����
� ������ �� ��� 3���: ���
����
-�� ��� ����
�����	 �- ��� �
��� 2�3 �� ��� 	�,� ����������

��� �3����&�� ����� 3�� ������� �& /������ �� ��� <�"".= �� ��� 2�3 �	 � ���	� ���		��: �	 � ��
���
�
�� �	� �	 � ������	% ���		��� ��� ����� %��� ������ ���
��� ���	 ������ ����� �	 ��� ��3��-�����3���:
���� 	�����& -�� ��� ������	% ���		�� 2�3: �	 3���� ��%	� ��	� ��������	� -��� ��� ��%�������� ��� �� ���
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��������: ���� 3��� ����
��� 3��� �& ��� �3����&�� ����� <��� 7�%� .�5=� ��� ����
�����	 �- ��� 2�3 �	 ���
��
��� �
�� ���� %��� ���
��� �	 %��� �%�����	� 3��� ��� �,������	��� ���� <7�%� 5��=� /���3����-���	%
���� ����
�����	� 3��� ���-����� �& *���� <�"".=: 3�� 
��� ��� /������ �� ��� <�"".= -���
�����	: �	�
#�
�	� �� ��� <
''�=� ��� $+� %���� -����& %��� ���������	 �- ��� ���	 2�3 <7�%� 5�)=> ��� ����������	�
��%��	 �� ��������� �� 3����	 �L �- ��� ���
� �����	�� -��� ��� �������� $+�: �� � -������	 �- ��� ����
<��� ���
�����	 ���� 
��� ��� �����,����� ��
	���& ��	�����	� ���
���� ���
� �3� ��
�� �	 � 0�	��
�
11 �''�D( ���������: 3������ ��� �������� $+� <9�������� �	� ���	 �"".= 
��� 
'��' *��& *08 ��
��=�

9	 �����	����� ������ ��� ���	 ����	��& �������� �& ������� �� ��� <�""5=� 1� �� ���� � (�	�� ��������:
����� �	 ��� ��	���������	 ���� !9�� ����� ������� �������� ��
	���& ��&��� -����& ���
�����&: �
� -���
�� ������� ��� ��������� 2�3 ��%��	� 3���? �	 ������
����&: ���& �� 	�� ����
�� ����
����& ��� �����,
������	% ���� �� �����	����� -�� �
�� �- ��� 	���� %�	������	 �	 �
�� 2�3�: �� 3��� �� -�� 
	�����&
������ #
� �� ��� �������� �	 ��� ���������	 �- ��� 2�3 �	 ��������� ��%��	�: ���� ����	��
� �� �	�3	 ��
M#������� +��& ���
�����	N <#+�=� 4��� #+�: 	�� �	�& ��� 3��� ��&��: �
� ��� �	���� ��
	���& ��&��
�� ����
��� 
��	% ��� !9�� -����3����

1	 ��������& ��������� 2�3�: #+� ��� ��� 3��� ���� �
������ *����	��	���
 E ��
���� <
'''�:
'''�=
���� ���-����� ����
�����	� �- ��� 2�3 ���� � ������� ���& �������� ������� ����������> ��� ���	����
$+�: �	 3���� ��� ��
	���& ��&�� �	 ��� ������ �� -
��& ��������: ��� #+� ����	��
�: �	� ��� 
	�����&
!9�� <8!9��= ��������: �	 3���� ��� �	������������%�� ������������� ��
����	� ��� ������ 
��	% �
���	���� �
��
��	�� ������ 8!9�� ��� �
������ �� �� ���� �� ����
�� ��� ���%������� 
	������	��� �-
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� 3��	���� �	��	���� 
������ �	��	��� 	�

#� < �����
�

�	� �	��	
� ����

������ +���	����� '��� ���
����	� ��	
 I����	 �� ���  C>>,!�

��� 2�3 <�	 ���� ����: ��� ���� ��������=� ��� $+� 
��� ��� �&	���� ���&���������& ����� <J����	� ��
��� �""�: $���& �""
=� ��� #+� 
��� � ���� �����	 �- ��� ��������9������� <�"")= �����: � �	����
����	
����� ����� �	 � ��	%�� ���	����� ��
����	 -�� ��� ���& ��������& ���� �� 3����& 
��� �	 �����&	������
��� 8!9�� ����
�����	� 
��� �����
� ������ �
�� �� ��� � � � �	� � � & �3����
����	 ������: ���
(� � � ����� <#
���	 �""�= �	� ��� ��������9������� <�"")= ������

1	 7�%� 5�� � ���������	 �- ��� �	���	��	��
� �
���-����	� ��������& �� ���3	� ��� 
	�����& !9��
����
�����	� -��� �� ������� ��� �	��������& �- ��� ��������	% ����� ��&�� ���� ����� �� ��� %�	������	 �-
�����, �
��� �	 ��� 3��� �- ��� ������: �� 3��� �� ��� 
	�����& ������ �	 ��� ������
����	% ��%��	� ���
��� �����: �	 ������
���: ���� 	�� ������� ��� ��������&�� ���������	� 3��� �	& ��%��� �- ���
���&� #+�
�������� ��� 
	�����&: ����������	���	�� ���
��
�� �- ��� ������
����	% ��%��	 �
�� ���� ���
�����&� /���
$+� �	� #+� ������� ��� �	��%& ��	��	� �	� -���
�	�& �- ��� ������	% �
�� ���� ���
�����& ���	 �	&
�- ��� !9�� ������: �����
%� ��� $+� ����	������� � ������ ���������& �	 ����
��	% ��� ���������	�
�- ��� G����	�D�������( �	��������& �	 ��� �������� ����� ��&���

,�� 2 3��4 5%� �	� ���������� �����

��� ����
�����	� ��������� �	 ��� ������
� ������	 ��%���%�� ��%	� ��	� ��B���	��� ���3��	 ��� ���
���
�����	�� 3��� $+� �	� 
	�����& !9��� ����� ��B���	��� ���
�� -��� ��� ��	����
�� ���������	� �-
��� ����	��
��: �	� �B��� ��� ������	%: ��� 	
������: ��� �����
���	 ���
�����	�� �	� ��� ��
	���&
��	�����	� �� �� �������� 9� ���������� ����� �	������	%�& �	��
�� �	 $+� �����	: �� �� �������	� ��
��%���%�� ����� ��B���	���: �	� �� %��� ���� 3���� �- ��
���	 �� ����	���� 
���� �- �
�� ������

��� %����	�	% ��
����	� -�� 
	�����& !9�� ��� ��� �	������������%�� ������������� ��
����	�� ���
��������� �- ����� ��
����	� �� ����	�����& ��B���	� -��� ���� �- ���  ������ ������������� ��
����	� ������
�	 $+�� 7����: �- ��� %��� ��(� �� ���������: ��	�� ���  ���� ��(� �� ������� �� ��� %���: $+� ��	� ��3����
������ ���
�����	�> -�3�� �	� -�3�� ������ ��� ������� �& ���  �����	% ��������	 
	���: �� I 
 ' ���
������ �- �����	 ��� ��������� 1	 ��� 8!9�� ��������: �	 ��� ����� ��	�: � !�&	����������� ���� ��

��



9.17
7.50
5.83
4.17
2.50
0.83

-1.67
-3.33
-5.00
-6.67
-8.33

-10.00

S - A ωy (D/U)∼

9.13
7.39
5.65
3.91
2.17
0.43

-1.30
-3.04
-4.78
-6.52
-8.26

-10.00

LES ωy (D/U)∼
9.17
7.50
5.83
4.17
2.50
0.83

-1.67
-3.33
-5.00
-6.67
-8.33

-10.00

DES ωy (D/U)∼

9.17
7.50
5.83
4.17
2.50
0.83

-1.67
-3.33
-5.00
-6.67
-8.33

-10.00

v2 - f ωy (D/U)∼

9.17
7.50
5.83
4.17
2.50
0.83

-1.67
-3.33
-5.00
-6.67
-8.33

-10.00

k - ω ωy (D/U)∼
9.17
7.50
5.83
4.17
2.50
0.83

-1.67
-3.33
-5.00
-6.67
-8.33

-10.00

k - ε ωy (D/U)∼

������ ��
	 ��������� &	' 	3�� 
 ������� K��4	�4��
�� 3	������� �	��	��� �� 
� 
%�
���
� ��
��� +�������� '���

���
����	� ��	
 A	���
�������� * �9�����  C>>>�!�

��3�&� �����	�: �	����	��	� �- ��� %��� ��(�: �� �������	� ��� �B��� �- ��� �
��
��	� 2
��
����	� ���� ���
������� �& ��� �	������ �����%�� ���� ��B���	�� �� ��2����� �	 ��� ������> � �
�%��������� ����� ���
��
%��� <�	� ���� ��= ��	����	%�& ����� ���& ��������& �� I 
 '� 9 � � � �����: �	 ��� ����� ��	� %����
!�&	���� �������� ���� ������ %�����	����	��	� <�
� 	�	�(���= �� ��� %��� �� �� 	���

7
���������: %�������� �&�����& ���������� ��	 �� �,������� �	 8!9�� �� ���
�� ��� ����
�����	��
����? ��� ������ ����
�����	� ��������� ����� ��
�� ���� ���	 ������� �
� 
��	% �	 �,���&������� %���:
-�� �	���	��? ��������&: ����3����-���	% ���� ����
�����	� ��	 �� �3������	���	��� $+�: �	 ��� �����
��	�: ��� �	����	��& ����������	���	��> ��� �	��%&�����&�	% ������ ���� �
�� �� �������� ��� ������
����	���	��: �	� ��� �	��	�� �� �& ��� �����,���������	% ���� ���� ��		�� �� ����	 �	�� ����
	� �	 �3��
����	���	�� ����
�����	�� 7�� ���� �����	: �3������	���	�� ����
�����	� ��		�� �� ��������� �� M���%��
���& ���
�����	�N: ��	�� ���& ��� 
	���� �� ����
�� ��������& ��� �&	����� �- ��� �������	� ��������
���
��
����

9	����� �������	� ��B���	�� �� �	 ��� ��
	���& ��	�����	� ���
���� �& ��� �3� ����	��
��� 1	 !9��
�	� 8!9��: �	�& ��� �	������������%�� �������& <��
� 3�������� �
��
��	� ���������� ��� ����� ���
����=
	��� �� �� ����� �� �� �	2�3�� 1	 � 2�3 3��� ���%������� 
	������	��� ���� �� 	�� �
� �� ��� ��
	���&
��	�����	� <�
�� �� ��� 2�3 ���
	� ��� ������= ��� �	2�3 ��	�����	� ��� �����&� ��� �� -�� ��� $+�> �- ���
�	2�3 �� �
��
��	�: ���������& �	� ��������& ���&�	% �	2�3 ��	�����	� �
�� �� ����� ��� 9� ��	���	��
�	 ������	 ��.: ���	 ��� 
�� �- ��	��� 	���� 2
��
����	� �
���������� �	 � ���	 �������& ��� ��� ��&
	�� �� �
Æ���	� �� �	�
�� �	 ���
���� ���������	 �- ��� 2�3 ��3	������� ������� ���� �
�� �� 
���
3��	 ����%	�	% 3��� ��
	���& ��	�����	�> ��� 3��� -
	����	� ���� ��� 
��� �	 !9�� ����
�����	� ��� 	��
��3�&� �
������ -�� $+��

��� %��� ���
�����	�� �- ��� 8!9�� �	� $+� ��� ���� �
����	�����& ��B���	�> �	 !9�� �� 8!9��:
�	�& ��� ���	 %�����	�� ���� �� �� ��������? �	 $+�: ��� ��� �	��%&�����&�	% ���
��
��� �
�� �� ����
���
���
�����&� ��� %���� ���
���� �& $+� ��	�: �����-���: �� ��  	�� ���	 ����� 
��� �& !9�� ����
�����	��
9� � ��	���
�	��: ���	%�	% � !9�� ����� �� �	 �J� ����� �	 � %���	 %��� ���� 	�� %
���	��� ��������
���
���� �	 ��� ��	����&: �- ��� ���� �� �	�
Æ���	� �� ����
�� ��� �������	� ����������	���	�� ���
��
���:

�.



�3�����	% -���: ��&: � �� � ����� �� � ���%���	��& ����� �� �����& �� �������� ��� ���
���&: 
	���� ���
%��� �� �
Æ���	��&  	��

��� ��B���	� ��������������� �- ��� �3� ����	��
�� ��� ��2����� ���� �	 ��� 	
������� ������� ����
��	 �� 
���� !9�� �	� 8!9�� %��� ������ ���
���	�? ��� 
�� �- 
�3�	� ������� �	 !9�� ����� ��:
�����-���: 	�� �����	��
��& ����%�	%� 1	 $+�: �	 ��� ����� ��	�: ��� 	
������� ����������	 �- 
�3�	�
������� �B���� ��� ���
���& �- ��� ���
��� �
����	�����&� 9��	% ��� �&����� �&������ ��� ������	�	% �-
��� 3��� ��&��� <�	� ��%� ���
�� �- ��� �	������� �- ��� ��%�������� ��&��=? ���
��� �
��
��	�� �	��	������:
���������& �	 ��%��	� �- ������	���(����	? ����&: �� ���	 �
��������	: �- ��� �	��� �- ���	�����	� 8�3�	�
�������: ��� �-��	 ��� ��-�
�� �	 ���������� �����: �	 3���� ��� ���
��	��� �- ��� ������ �� �	 �������	�
�������&? ��3����: ���
�� �� ������� 3��	 ���-����	% $+��
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������� #

�

����	

�

1� 3�� ��� �
����� �- ����� $���
�� ����� �� %��� �	 �	����
����	 �� �3� ������� ���� ���� ������
�	������	%�& ���
��� -�� ��� ���
���	 �- �
��
��	� 2�3 ��������: ��� ������ �	� ���%�����& ���
�����	
����	��
��� 1� �� ����� ���� ���& ��	����
�� � �
������ ������	% ���	� -�� ���� �	������ �����	%� -�� �����
�	�������� �	 
��	% $+�: �	� ���� ���& �
���& ��� ���
��� �- ��� ����	���� �������
�� 3��� ��� ����� ��

	������	� ������ ��� ��3��: ���������	� �	� ���������	�� �- ����� �����������

#����� ���
�����	� ���� ���	 �����& �	 �	���
��	� -�� ��� ��
�& �- ��� ��&���� �- �
��
��	��: ��	��
�����
���	 ���
�����	�� ����� ����� ����������	 �� ���������& ��3 !�&	���� 	
������ 9����
%� �	%�	����	%
��	 %
�����	� ��� ��&�	� ��� ������������ �- #��: �� ����� �	 ��� 	��� -
�
��� #��: ��3����: ����3 ���&
�������� ��	���� ���� ��� 2�3 ����������: 3���� ��	 �� 
��� �	 �������
�����: ����������	� �	�����	%
������	% 2�3� �	� 2�3 ��	�����

��� �
�����: �	� ��	%� �- ����������	: �- $+� �������� 3��� ��� ����������	� �
������ -�� #�� �	 �	�
�	�: ����� �
������ -�� !9�� ���������%��� �	 ��� ������ ��� ���	����� ����	��%� �- $+� ���� #��
�� ��� -��� ���� �� ����3� �	� �� ����
�� 2�3� �� !�&	���� 	
����� �
�� ��%��� ���	 ����� -������� �	
#��: �� �� ��� ���� !�&	���� 	
����� �
� �� � ��	��������& ������� �,��	��� �	� ���
�� 	�� �,����
�� �� ���� �� �,����� -��� $+� ��� ���� �	-�������	 ���� ��	 �� �,������� -��� #��: ��	�� ������	%
��� ����� ������ �B���� ��%������� ���������� ���� ���	 ��� ��3�������� �	��� ��
�: $+� �� �,������ ��
�� ���� �������� -��  ��� �	� ����	� ����	��: �	� �� ������
�� �
����������& ��� ����� ���
��
��� �- ���
2�3� <�,����	�� �- ����� ��&���: �������� ���
��
��� �	� �� �	=�

$��%�����& ���
�����	 �� ��	��������& ���� �,��	���� ���	 !9�� ����	��
�� -�� 2�3� ���� ��� �	��
�� �3������	���	�� �	 ��� ���	 �	� �����&� 7�� ���� �����	: �� ���
�� �� ������� �� �������� �	 3����
��� ���� �� ���������� �� ���� �- ��� ���
���	 �- ��� !9�� ��
����	� �� �� �������� �	 3���� ��3��������
�
��
��	�� ������ -���� �
�� �������� �	��
�� 
	�����& �� ����������	���	�� ��
	���& ��&���: �����,W
��
	���& ��&�� �	��������	�: ��������� 2�3� �	� 2�3� �	�����	% %��������� 3��� ����� ���	��� <�	 ��
���
�
���: -�� �,�����=�

$��%�����& ���
�����	 ��� ������& ����	������� ��� ������������ �	 ����
�����	� �- ���������& ������,
2�3�: �� !�&	���� 	
����� ���� ��
�� 	�� �� ������� �& #��� 9� �����	�: �� ��,���(� ��� ���
�	�:
$+� ���
�� �� ������� �� �������� �	 3���� ��� ���� �� ���������� �� ���� �- ��� ���
���	 �- ��� !9��
��
����	�: �� �� �������� �	 3���� ��3�������� �
��
��	�� ������ -���� �
�� �������� �	��
�� 
	�����& ��
����������	���	�� ��
	���& ��&���: �����,���
	���& ��&�� �	��������	�: ��������� 2�3� �	� 2�3� �	�����
�	% %��������� 3��� ����� ���	���� ����� ��� �������� �	 ���������& ������ %���������: ����: ��3����:
������� �	� <�� � -�3= �- ��� -������ ���� ��� �,������ �� �� ������	� �	 �
�� ��	 %
�����	�: ������ 3����	
� ������ �� %������&� $��%�����& ���
�����	 �- ����� 2�3� ��	 ������� ��� 
	������	��	% �- ��� �
��
�
��	�� ��&����: �	� ���� �� 
��� �� ������� ���� -�� ��� ���������	� �- ���� ���
���� ��3�������� ������
<���������& �����
�� ����������: 3���� ��� ��Æ�
�� �� ����
�� �,������	����&=�

9��	% ��� 	�,� ���%��� ���:  ��� �	� -�������: 2�3� ���� �	��
�� �������	�� %��������: �� 3��� ��
��&�����: ������,������ 1	������ �	 ������������ 2�3� �	� �	 �������
����� �� ���� �	������	%� ��� �����
��	%�� ���� 	��� �� �� -���� �� ������� ��%	� ��	� ����	����	�� �	 ����� ����� �	��
�� ��� ���������	� �-
	����3��� ������: �- ���
���� 	�	���
������
� �	� ������������ �J� ������: �	� �- ��%������� �������
�	 �
�����	��� ������	���� �	� �	 
	���
��
��� �������

0��%���� �	 ����
��� ����	���%& ��� ���� �� �������� �� ���-��� ��%	� ��	� ����
�����	� �	 �B�������
������� 3���������	�� ��� ���
�����	� ���� ���
���� �
	����� �- *��& Y�0 *08 ��
�� 3��	 ��� �
����
3�� 3����	% �	 ��� �����������	: ��	 &���� �%�: ��� 	�3 ��
��	��& ������� �
� �& ��� ��
��	�� �	 0�	��
� 11
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����� ����	���%���� ����	��� 3��� ��	� � ���� ��� �B���������& �- �
	��-��������� ����
�����	�:
�	� ��� ����������& �- ���-����	% ���%��: �����	%���%� ����
�����	� �	 �������� �	����	��	���

$��%�����& �	� ������ ���
�����	� ���
�� 	�� �� ��	���
�� �� -��������- ����� �� �����	 �	�3��� ��
�
��
��	� 2�3 ��������: 	��: &��: �� ����%	 ����� ���� ��	 �� 
��� -�� ��������� ������(����	� 4���
����� ������� �	 ��	�: ��3����: ��� �
����� -�� ����� ����	��
�� �� �����	���& ���%��� ��� 	������
����	����	�� �	 ������	% �	� 	
������ ���� ��� ���� -�3 &����: �	� ��� �	������	% 	
���� �- �����������
���� ��� ����&�	% ����� ����	�� �	 ��� 		
������� ���
�����	 ���� ��� ���� � ����
�� �- ���� ���������	��:
�	� � �����	 -�� �������� -�� ��� -
�
���

.'



��	
����
���

���������� 	
� � ��
�� �
 �"". $��%�����& ���
�����	 �- �
��
��	� ��	 	�� ���		
��� ����� ��
����� ����� ���: �65�

��������� �
� � ��������� �
 �""" +B���� �- ��� ���������& ����� �	  	������B���	�� $+�
�- ����&�	% ��������� �
��
��	�� 
��	% � $�%��	%��	 �&	���� ��,�� ������ ��
�� ���������� ���
�
������
� !�: 
'��

�������� �
� � ������
� �
 �"") �
�%��������� ������ �	  	������B���	�� ���
�����	� �- ������,
3��� ��
	��� 2�3�� ��� ! �" ##$: 
���

�������� �
� ������
� �
� � �
�����
� �
 �"". �3����&�� �����,����� ��
	���& ��	�����	�
-�� ���%�����& ���
�����	�� �%�� �� ��: �����

����
��� �
� ����
���� �
 �
� � �� ������ !
 �
 �"6' 1������� �
�%��� ����� ������ -��
���%� ���& ���
�����	� �%�� "�	�� &
� '()$*#+�

����
��� �
� ����
���� �
 �
 � �������� �
"
 �"6� +B��� �- �������	 �	 ��������� �
��
��	��>
����
�����	 �	� �������	%� �� ����� ����� ���: �
��

��#�� � $
 �
� $����� �
� � ��
�� �
 
''' #�������� ���������� ��	���� �- �
��
��	��> �	
������� ��	������ -�� -������� ��%�������� �
������� �� �� ����� �����

������� �
 !
� � �����%% � $
 �
 �""� ���%�	 �- �
��
��	�������
��	% ������ �	 � ���		��
2�3� "�,�� ������ �:�'�� <�""�=�

���#�� &
'
 � ���(��� �
 �"5) �	 ��	���& �B���� �	� ���%� ���
��
�� �	 �
��
��	� ��,�	% ��&����
�� ����� ����� !�: 55��6�.�

��)�%� !
 �
 �"". �����3��� ������ �	 ���%�����& ���
�����	� �- 2�3 ����	� � ����3����-���	%
����� 1	 ����  ��� -���.�)$//0� *�	��� -�� �
��
��	�� !�������: �9�9 9���C���	-��� 8	���: �""�

����%�� �
� �����
�
� �
 *
� +���%����
� �
� ��� ,���� $
 �
 �"66 1	������ ����
�� ��
2��� �,������ <����	%���;����%: D��������%=�

�(�-���� .
 �
 �"5" *���
�����	�� �����&	����� ���������	� �	� �
����� �%�� �� ��: �
"��

�(�
� �
� ��
�� �
� � 	
�� �
 �""� #����� 	
������� ���
�����	 �- �
��
��	� 2�3 ���� �������� ��
����� ����� ���: �'��

�(�
� �
� ��
�� �
� � 	
�� �
 �"") 9����� �
��
��	�� ��	���� -�� ���% ���
����	 �	 3������
	���
2�3�� �� ����� ����� �!�: 5��

�(����%� �
 �
 �"6) �3�����	� ����
��� �� � �
�%��� �������	% -�� ���%�����& ���
�����	� 1	 ���3
������ 1����� ��
� %4: ������ �& 7� #
��� �	� /� $�
	���: <����	%���;����%: D��������%=: .
�

�(����%� �
 �
 � '��
���� �
 �"6� 0���������(����	 �- ����� ������ �- ����������	���	�� ���������
�
��
��	�� 
����(�	% �������� ����
���� �� ���
� 1��� �': 
5)5�

�(��
�� �
 �
 �"." �
������� ���
���	 �- ��� ������������� ��
����	�� ����� �
�	��� ��: 5)��

�



�������� &
 /
� 	
�� �
 � '�� �
 $
 �"". 9 	
������� ��
�& �- ����������	���	�� 3������
	���
2�3�� %��� �� 5��� ����� ��
� ��: ����

���%�� �
� "
����%�
�
� �
 �
� � �0����� �
 �""6 ������3��� �������� �	 ���%�����& ���
�����	�
�- ��,�	% ��&���: 6��� �� ����� -7������ ��: .���

���%��%
������ &
 "
� � "1�
���� 	
 .
 
'''� $+� �	� #+� �	�����%����	 �- �
��
��	� 2�3
���� � ������� �%�� "�	�� 8((()(#9(�

���%��%
������ &
 "
� � "1�
���� 	
 .
 
'''� 0��������	 �- �
��
��	� 2�3 ���� � �������
�
������� �� �%�� ��

.������22� �
 !
 �"5' 9 	
������� ��
�& �- ����������	���	�� �
��
��	� ���		�� 2�3 �� ���%�
!�&	���� 	
������ �� ����� ����� ��: )���

.� ���
�� 3
� &���%�� �
� .�
����� �
� � 	���%�� �
 �""" !��
��	��� �- 2�3 ���	���	� �	
� ��������& ��������	% �
��
��	� ��,�	% ��&��� 1	  ����� �������� �� !&1 ��� :61: ������ �& #�
G	�%�� �	� $� ������ <G�
3��: #��������=: ��� ���W�
'�

.���� ��� �
 � '��
���� �
 �""5 1	 �������� �� !&17:61: ������ �& *� $�
 �	� S� $�
:
<J��&��	 0����: *��
��
�=: )
��

.
����� &
4
� ������� �
� � �
�����
 �
 
''�� M4������&�� ������ -�� $+� �- ��������� 2�3��N
1	 �
���� ��������
� ������
��� .
� ��������� 2
��: ��� / J�
���: ��� 
'5W


� 0�����������>!�
+�3�����

.��������
� �
 �
� '
�� !
� �5��%��� �
� ��� 	��
���� '
 �"") +	��%& ���	�-�� �	 	
��������&
���
����� 3������
	��� �
��
��	� 2�3�� "�,�� ������ !: ��6��

.��������
� �
 �
 � "�
�
� �
 �
 �""5 M9 �
�%��������� ����� ����� �	 ��� ���������	 �-

	�������� ������ �- �
��
��	���N "�,�� ������ �: 
�)6�

.��������
� �
 �
 � '�(� 	
6�
 �""" M��� �
�%��������� ���������	 ����� �	 ��� ��&����� �����
�������	�����	�N "�,�� ������ ��: 
��'�

.��������
� �
 �
 � *��� �
 �
 
''' M��� �
�%��������� ���������	 ����� -�� ��%� !�&	����
	
���� �
��
��	���N "�,�� ������ ��: �"��

.�
���� .
 �
 � ��))��� "
 	
 �"65 +,������	��� ��
�& �- � ����������	���	��: �����������	:
�
��
��	� ��
	���& ��&��� �%�� �� ��: ���

.�
���� .
 �
 � ��(��%��� �
 �
 �""' +,������	��� ��
�& �- � ����������	���	�� �����������	
�
��
��	� ��
	���& ��&�� 3��� ������3��� ������� �����
�� %�����	�� &�1� �� $(88$$�

.������ �
� ���%�� �
� � '��
���� �
 �"". $��%�����& ���
�����	 �- ���	�����	 �� �
��
��	��
�	 � ��
	���& ��&�� ��������	% ��������& ���� � 2�� ������ �� ����� ����� ��!: ��

.��)
�� �
 �
 �""� �����3��� �
��
��	�� ����
�� 3����
� �����	% -
	����	�� ���
���� �
�	���
����� ����� �: .�"�

��6��� � /
� ,���� $
 �
� � �
�����
� �
 �"") 9���������	 �- ��� �&	���� �
�%��������� �����
�� �,��&������� ���	�����	�� ��
	���& ��&�� �� ��%� ������ "�,�� ������ � !: �
""�

����)��(��� &
� �����
�
� �
 *
� "-��
���� �
 &
� � ,���� $
 �
 �""
 ��3��� ��� ���%�����&
���
�����	 �- ������������ �
��
��	� 2�3�: �� ����� ����� ��': ����

������ �
 �".�� F+�
����	� ��� %�( �
��
��	�� ������������� 1� 7����� %F�	F������� �� �� �;�����<��
�: �.��

������ �
 �".�� F+�
����	� ��� %�( �
��
��	�� ������������� 11� �F������ ��� �������� ��&�		��?
�F������ ��� �������� �����������
�� ��	�F��F��� ��� �� ����� ���
���
�� �� �� �;�����<�� �: �"��

&������� �
 �""
 �
��
��	��> ���  �����	% ��������� �� ����� ����� ��': �
��






&������� �
� �
�����
� �
� ��
�� �
 ��� ��)�% !
 �
 �""� 9 �&	���� �
�%��������� ���&
��������& ������ "�,�� ������ � �: �5.'�

&(����� "
� � ��
�� �
 �""� ��� ����� ��
����	� -�� ��� ���%� ���& ���
�����	 �- �
��
��	� 2�3�
�	 ������, %���������: �� �
�	��� "�,�� ��': 
)�

&(����� "
� '���� $
 "
� ��
�� �
 � ���������� 	
 �""� 9 �&	���� ������(����	 ����� -��
���%�����& ���
�����	 �- �
��
��	� 2�3� �� ����� ����� �'!: 

"�

�������� �
 �
� ��#�� � $
 �
� � ��
�� �
 �""6 �������� �����	���� -�� �
��
��	�� ����	�

����	 �	� �	��	����	� �	 ���������	���	������� �
��
��	� ���		�� 2�3� "�,�� ������ �1: 
)
��

���
� 7
� ����
�� �
 .
� � �
�����
� �
 �""5 $��%�����& ���
�����	 �- ���	�����	 �� �
��
��	��
�	 ��
	���& ��&���� ���
���� �
�	��� ����� !,�� �: �)"�

���%� �
 �
 �
� !�� � �
 �
� � ��
�� �
 �"66 +�����: ������� �	� *�	���%�	�� S�	�� �	
�
��
��	� 7��3�� "�
�� 1����� "�

��� $/'': *�	��� -�� �
��
��	�� !�������: �"��

��(��%��� �
 �
� �������� �
 �
� � '��
��� �
 	
 �"5
 +B��� �- ���	3��� �������	 �	 ���
���
��
�� �- �3������	���	�� -
��& ��������� �
��
��	� ���		�� 2�3� �� ����� ����� �!: ����

	��%��)��(� �6�
� ��%
��� �
� �
%%��� �
� '���� $
 "
� � ��
�� �
 �""" ��
�& �- 2�3 �	
� ���	�� ��&������� ��B
��� 
��	% ���%�����& ���
�����	� �� ����� ����� ��1: ����

	����-���
� �
� � �
�����
� �
 
''' $��%�����& ���
�����	 �- � ����������	���	�� �����������	
�
��
��	� ��
	���& ��&��� �� ����� ����� ���: ��� �5�W
'��

	
�� �
� � ��
�� �
 �"6� 9���������	 �- � -������	�� ���� ������ �� �	������������ �������������
��
����	�� �� �
�	��� "�,�� ��: �'6�

	
�� �
� ��
�� �
 � ������ �
 .
 �"65 �
��
��	�� ���������� �	 -
��& ��������� ���		�� 2�3 ��
��3 !�&	���� 	
����� �� ����� ����� ���: ����

	�
��� "
�
� �� ������ !
�
� "�(���)� �
�
� � ����%������ �
!
 �".5 ��� ���
��
�� �-
�
��
��	� ��
	���& ��&���� �� ����� ����� �1: 5)��

	�
�(%� .
� ,(��� &
� 8����9�� /
� ��� "(����� 4
 �""6 *����������� ���%� ���& ���
�����	

��	% 
	���
��
��� %����� �%�� "�	�� /'3(#*#�

	��
�(���� �
 �
 �"5. +��& ��������& �	 �3� �	� ����� ����	���	�� �� ���
� 1������� ��: ��
��

	����(����� �
� ��
�� �
� � ������ �
 .
 �"". S�	�� �������� %���� -�� 	
������� ���
���
���	� �- 3������
	��� �
��
��	� 2�3�� �� �
�	��� "�,�� ���: )�
�

	����(����� �
 �""6 /�����	� ������� �	� (�	�� %���� -�� 	
������� ���
�����	� �- �
��
��	�
2�3��"�� !� !���������
�: ���	-��� 8	�������&�

	����(����� �
� � ��
�� �
 
''' �
������� ��
���� �- 2�3 ���� � ����
��� �&��	��� �� ��� A
�"''� "�,��7 ������ ��: )'�W)�5�

	�
�%�22������ �
� � ���������� �
 3
 �""� #����� ���
�����	 �- ��3�!�&	���� 	
���� �
��
�
��	� 2�3 �	 ������	% ���		��� �� ����� ����� ��!: �.��

'��)����
�� �
� �0�%�
�� 8
� � '��
���� �
 �""6 ����������&	���� ����� -�� ���%�����& ���
�
�����	� �- �
��
��	� ������	% ���		�� 2�3� ���
���� �
�	��� ����� !,�� ��: �)"�

'�� �
� ��
�� �
 � 	
�� �
 �""5 #����� 	
������� ���
�����	 �- �
��
��	� 2�3 ���� � ����3����
-���	% ����: �� ����� ����� ��1: �)"�

'��� "
� '���� "
 	
� � ��
�� �
 �""
 ���
�����	 �- ��������& ������	% �
��
��	�� �	� ���
������������& �- ��&���@� �&�������� �	 ������������ 2�3: "�,�� ������ � �: ��
��

�



'������� �
 �"5) +	��%& ������� �	 $��%��+��& ���
�����	� �- �
��
��	� 2
�� 2�3�� ���� ��
3
	�,�� �'�: 
�5�

'��
���� �
 � �0�%�
�� 8
 �""� ��3 ���	�� �	 ���%�����& ���
�����	 �- �
��
��	��� �����  ���
����� ����� �': )� <�""�=�

'
� /
� �������� �
� � �
�����
� �
 
''' 1	2�3 ��	�����	� -�� ���%�����& ���
�����	� �- ��,�	%
��&���� �� ������: "�,�� ������ ���

'
�� � .
 	
 �".5 ��� !������	�����	 �- ����������� �
��
��	�� �	 �
������� ���
�����	 +,�����
��	��� "�
�� %-� 1�������� �
�	����
 1,�	
���� 
� 6����
������� 1�������� K�����3	 D��%���:
��K�: �"��

'
�� � .
 	
 �""
 9 �������� ���� �����	 �- ��� J����	� �
�%��������� ����
�� ������� "�,��
������ � �: .���

'
�� �
� �
�����
� �
� � "-����%� �
 �
 �"". 1	��������	 ���3��	 � ��������& %��3�	% �
��
��	�
��
	���& ��&�� �	� �������� ������3��� ��������� �� ����� ����� ��!: ����

'
�� "
� ��������� �
� � 	�%�� �
 �"") �	 ��� ���������� �- ���������& �
�%���W����� ������ ��
���
��� -��� ����
����	�� �	 � �
��
��	� ���� �� ����� ����� ���: 6��

'�(����� �
 �
 �"5. !����	�� �- � ��������� ��
	���& ��&�� �� ����� ���	������ �
�-��� �����	�
�1�6 �� ������ 6�
�
 �': ����

'���� � �
� � ������ � �
 �""6 *�	���� �- �
��
��	��� �����  ��� ����� ����� �1: ���W�
5�

'���� $
 "
� !�� 7
� � "1�
���� 	
 .
 �""6 J�	������	 �- �	2�3 ���� -�� ��������&���������	%
��
	���& ��&�� ���
�����	�: �� �
�	��� "�,�� ��1: 
���

�������� /
 /
� 	
�� �
� ��� ��
�� �
 �"66 !�&	���� ������ �	� ����������	����� �
�%��� �	 �
�
��
��	� ���		�� 2�3� �� ����� ����� ���: ���

���%0:�� �
 �
� �
�����
� �
� � �������� &
 4
 
''' �
�%��������� ������ -�� ������������
���%�����& ���
�����	�� ���
���� �
�	��� ����� !,������ ��: �.��

���
����� 8
 �
� ����
���� �
 �
 � �������� �
 "
 �"6' ����� �- 	�3 �
�%��������� ������
�	 �����	�� �
��
��	��� �%�� "�	�� &
� '()$**/�

��������� �
� '���� $
 "
� � ��)�%� !
 �
 �"". 9 $�%��	%��	 �&	���� �
�%��������� �����
�- �
��
��	��� �� ����� ����� ��� ����

��������� �
� � 	�%�� �
 
''' �������	�����	�� �	� �
��
��	�� ������ -�� ���%�����& ���
�����	�
�����  ��� ����� ����� ��: ��

��
�� �
 �""5 0��%���� �	 ���%� ���& ���
�����	 �- �
��
��	� 2�3�� �%�� "�	�� &
� /+3(+9/�

��
�� �
� "1�
���� 	
 .
� ��)�%� !
 �
� � '��� "
 �""� 9 �&	���� �
�%��������� ����� -��
������������ �
��
��	�� �	� ������ ���	������ "�,�� ������ � �: 
5).�

��
�� �
� � ��(��(� 	
 �""6 #����� 	
������� ���
�����	> 9 ���� �	 �
��
��	�� ��������� �����
 ��� ����� ����� �1: ��" <�""6=�

���
�
�(
� *
� '���� $
 "
� 4��
� ��� 8
 4
� � ��
�� �
 �""6 7
��& ��	��������� ��%��� �����
 	��� ��B���	�� ������� -�� �	������������ 2�3�� �� �
�	��� "�,�� ���: "'�

/������� 7
 ��� '��
���� �
 �""
 #����� �	� ���%�����& ���
�����	 �- ����	�� �������3	 �	
��%������� �,��&������� ��
	���& ��&���� ���
���� �
�	��� ����� !,�� �: 
���

8������ � 3
 �"5. 9 ������ ��
	���& ��	�����	 -�� 
	��
	��� �&�������� 2�3�� �� �
�	���
"�,�� ��: 
���

)



�
����� �
 .
� � ��
�� �
 �""6 ������ -�� %�	�����	% ��
������
� �3����	% 2�3 ��	�����	�� �%��
�� �! ��
��

�
�����
� �
 �""� D�%� !�&	���� 	
���� ����
�����	� 
��	% ��� �&	���� �
�%��������� ������ ������
"�,�� ������ � �: �)6)�

�
�����
� �
 �""" $��%�����& ���
�����	> ���������	�� �	� ������	%��� "�

���� ���
� 1��� ��:
����

�
�����
� �
� ��
�� �
 � ����
���� �
 �
 �"66 ����� ��	�����	�& �	 ���%� ���& ���
�����	 �-
�
��
��	� ���		�� 2�3�� "�,�� ������ ��: �66)�

�
�����
� �
� ��
�� �
� ����
���� �
 �
� � 	
�� �
 �"6" ��3 �����,����� ��
	���& ��	�����	�
-�� ���%� ���& ���
�����	� �- 3������
	��� 2�3�� "�,�� ������ � �: �'.��

�
�����
� �
� ,���� $
 �
� "-��
���� �
 &
� � �����
�
� �
*
 �""' �	 ��� ���%�����&
���
�����	 �- ���	�����	�� 3������
	��� 2�3�� "�,�� ������ � �: 
�5�

�
�����
� �
 ��� '
�� �
 �""� $��%� ���& ���
�����	 �- ������	% ���		�� 2�3� 
��	% � ������(��
�&	���� ������ "�,�� ������ � �: 6�"�

�
�����
� �
 � �(������ �
 �
 �"". $��%�����& ���
�����	�> �����& �	� ����������	�� 1	 ����3
����
� ��� ���������� �
������
: ������ �& #� D�		�	%��	: �� D����Z���: D� 9�-������	 �	� 9� U��
��	���	: <G�
3�� 9������� 0
��������: #��������=: 
."�

�
�����
� �
� *�� *
� ��� ���
��� �
 �
 �"". �
�%��������� �	��%& ���	�-�� �	� 	����3���
�
��
��	�� ���
��
��� "�,�� ������ ': 
���

�
�����
� �
� �������� &
 /
� � 	
�� �
 �""5 �	 ��� �B���� �- 	�	���
������
� �	 ��� �
�%����
����� ��������� "�,�� ������ �: 
5)'�

�
�����
� �
� �������� �
� � ���������
� �
 
''' �
��
��	� ���
��
��� �	 ����������	% ��
	��
��& ��&���� �
������� �� �
����� 
. �����������

��
� �
 �
� � ��
�� �
 �""� #����� 	
������� ���
�����	 �- ���	�����	 �	� �
��
��	�� �	 �
��������& ������	% ��
	���& ��&��� �� �
�	��� "�,�� �1�: �."�

��)
����� "
 	
 �""�� *�����	� �����	� �	 ��� �
��
��	� ��
	���& ��&��� �����  ��� ����� �����
��: .'��

��)
����� "
 	
 �""�� ��� ��	������� �- �
��
��	� ��
	���& ��&�� ���
��
��� &�1� ��3$(*'#/�

������� �
 �
� �������� /
 /
� ��� �� ������ !
 �
 �"6" 9	 ��%������ ����� -�� ���
�
��
��	� 2
, �- � ������� ������� �� ����� ����� �1�: 55�

"���(
�
� �
� �
�����
� �
� � �������� �
 �""" ������������� ������ -�� ���%�����& ���
�����	��
"�,�� ������ ��: �.'5�

"�(������ �
 �"5� �
�%��� ����� ����� -��  	��� ��B���	�� ���
�����	 �- �
��
��	� 2�3� �	 ���	�
���		��� �	� �		
��� �� �
�	��� "�,�� �': �5.�

"��%%
 �
 � �
�����
� �
 
''� M�
������� ���
�����	 �- �
�����	% ���		�� 2�3�N "�,�� ������
��: ��.5�

"(�(� 	
 �
 � ����
���� �
 �
 �""� M9 	�3 	�	����& ��������& �
�%��������� ����� �	� ��� ������
�����	 �� ���		�� 2�3�N 1	 ������ .
� ����������  ������� ������ -���.� $//# ���	-��� 8	�������&:
5��

"�����
��� � �
 �".� J�	���� ����
�����	 �,������	�� 3��� ��� ��������� ��
����	�� 1� ��� �����
�,������	�� �
����, =������  ����� ��: ""�

"-����%� �
 �
 �"6. �
������� ��
�& �- ��	��2�3 ��
	���& ��&���� �� ����� ����� ���: �'5�

�



"-����%� �
 �
 �"66 #����� 	
������� ���
�����	 �- � �
��
��	� ��
	���& ��&�� 
� �� ��" A �)�'�
�� ����� ����� �'�: .��

"-����%� �
 �
 � !�%��22� �
 �
 �""� +,������	��� �	� 	
������� ��
�& �- � �
��
��	� ��
	��
��& ��&�� 3��� �����
�� %�����	��� �� ����� ����� ���: ��5�

"-����%� �
�
 ��� ��������� "
 �
 �"") 9 �	����
����	 �
��
��	�� ����� -�� �����&	����
2�3�� :�  �������� �;��
�	������: �: ��

"-����%� �
 �
� ���� !
 �
� "%����%�� �
� � ��������� "
 �
 �""5 *����	�� �	 ���
-���������& �- $+� -�� 3�	%�: �	� �	 � �&���� !9��C$+� ��������� 1	 �������� �� !&17:61:
������ �& *� $�
 �	� S� $�
: <J��&��	 0����: *��
��
�=: ��5�

"-��
���� �
 &
� ����)��(��� &
� ,���� $
 �
� � �����
�
� �
*
 <�"66= ��� �
�%���������
������	% �- ������������ �
��
��	��� "�,�� ������ � ��: ")'�

"%���� "
 � ������ /
 �
 �""" M9	 �����,���� ����	���
���	 ����� -�� ���%�����& ���
�����	�N
"�,�� ������ ��: �.""�

"%���� "
� ������ /
 �
� � 	��
���� '
 
''� M9	 �����,���� ����	���
���	 ����� -�� ���%��
���& ���
�����	 3��� ����������	 �� �	������������ 3������
	��� 2�3��N "�,�� ������ ��: ""5�

"%���%%� �
 '
 � ��������� �
 &
 �"6" �������� �
���������	 ����	��
� -�� ���%������� 2
���
�&	���� ���
�����	�� �		���� &��� ����� !: �
��

4�� .�
��%� �
 �
 �"�. �	 ��� �
��
��	� 2�3 	��� � 3���� �� ���
� 1��� ��: �''5�

4���� �
� � *���� ,
 �""� �
������� ��
�& �- �&���� ���	�����	� "�,�� ������ �: 

�.�

4������ �
� &���%�� �
� � 	���%��� �
 �""�� � 	��
�� ����� �- ���%� ���& ���
�����	 �- ���
������������ ��,�	% ��&��� �� 6�
� ����� ��: 
""�

4������ �
� &���%�� �
� � 	���%��� �
 �""�� �
�%����������	% �	 $+� �- ������������ 2�3�
�		���� 1���  ��� ��: �"��

4������ �
� &���%�� �
� � 	���%��� �
 �""5 $��%� ���& ���
�����	 �- ��� �
��
��	� ��,�	%
��&��� �� ����� ����� ���: ��5�

!���(� �
 �
 �"6' #��% ��������������� �- ;�%����� �	� ���	������ �
����
�� �������� 1	 4���
��
���
 �������
� <J� !� D�
%�: ���=: 9199�

!�� 7
 � "1�
���� 	
 .
 �""5 $��%�����& ���
�����	 �- �	 ��
������
� ����������	���	�� �
��
�
��	� ��
	���& ��&��� �%�� �� ��: .5�

*��(
��#�� �
 �"6. ����������� �����& -�� ������������ �
��
��	� ����� 2�3�: 3��� ��� ����������	
�� �
�%��� ������	%� "�,�� ������ � ��: 
��
�

,���� $
 �
� .�(�)���� �
 �
� � .�(�)���� �
 �
 �""
 #����� �	� ���%�����& ���
�����	� �-
����������	���	�� ������������ ������������� �
��
��	��� "�,�� ������ � �: �
5�

,���� *
� "%���%� �
 '
� � 	���22� �
 �""� 9 �&	���� ��,�� �
�%��������� ����� �	� ���
����������	 �� �
��
��	� ������
����	% 2�3�� "�,�� ������ � �: ��6.�

.


